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Abstract

In an environment in which both buyers and sellers can undertake match
specific investments, the presence of market competition for matches may
solve hold-up and coordination problems generated by the absence of
complete contingent contracts. In particular, this paper shows that when
matching is assortative and sellers’ investments precede market competition
then investments are constrained efficient. One equilibrium is efficient with
efficient matches but also there can be equilibria with coordination failures.
Different types of efficiency arise when buyers undertake investment before
market competition. These inefficiencies lead to buyers’ under-investment due
to a hold-up problem but, when competition is at its peak, there is a unique
equilibrium of the competition game with efficient matches — no coordination
failures — and the aggregate hold-up inefficiency is small in a well defined
sense, independent of market size.
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DogEs COMPETITION SOLVE THE HOLD-UP PROBLEM?

1. INTRODUCTION

A central concern for economists is the extent to which competitive market systems
are efficient and, in the idealized Arrow-Debreu model of general equilibrium, effi-
ciency follows under mild conditions, notably the absence of externalities. But in
recent, years, economists have become interested in studying market situations less
idealized than in the Arrow-Debreu set-up and in examining the pervasive inefficien-
cies that may exist.! This paper studies a market situation where there are two
potential inefficiencies — these are often referred to as the “hold-up problem” and
as “coordination failures”. An important part of our analysis will be to examine the
connection between, as well as the extent of, the inefficiencies induced by these two

problems and whether market competition may solve them.

The hold-up problem applies when a group of agents, e.g. a buyer and a seller,
share some surplus from interaction and when an agent making an investment is
unable to receive all the benefits that accrue from the investment. The existence of
the problem is generally traced to incomplete contracts: with complete contracts, the
inefficiency induced by the failure to capture benefits will not be permitted to persist.
In the standard set-up of the problem, investments are chosen before agents interact
and contracts can be determined only when agents meet. Prior investments will be a
sunk cost and negotiation over the division of surplus resulting from an agreement is
likely to lead to a sharing of the surplus enhancement made possible by one agent’s
investment (Williamson 1985, Grout 1984, Grossman and Hart 1986, Hart and Moore
1988).

Coordination failures arise when a group of agents can realise a mutual gain only
by a change in behaviour by each member of the group. For instance, a buyer may
receive the marginal benefits from an investment when she is matched with any par-
ticular seller, so there is no hold-up problem, but she may be inefficiently matched
with a seller; the incentive to change the match may not exist because mutual gains

may be realised only if the buyer to be displaced is willing to alter her investment to

1See Hart (1995) and Holmstrém (1999) for an extensive discussion of these inefficiencies.
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make it appropriate for the new matching.

What happens if agent’s interaction is through the marketplace? In an Arrow-
Debreu competitive model, complete markets, with price-taking in each market, are
assumed; if an agent chooses investment ez-ante, every different level of investment
may be thought of as providing the agent with a different good to bring to the market
(Makowski and Ostroy 1995). If the agent wishes to choose a particular level of
investment over some other, and the “buyer” he trades with also prefers to trade with
the agent in question, rather than with an “identical” agent with another investment
level, then total surplus to be divided must be maximized by the investment level
chosen: investment will be efficiently chosen and there is no hold-up problem. In this
situation, the existence of complete markets implies that agents know the price that
they will receive or pay whatever the investment level chosen: complete markets imply
complete contracts. In addition, as long as there are no externalities, coordination
failures will not arise as the return from any match is priced in the market and this

price is independent of the actions of agents not part to the match.

An unrealistic failure of the Arrow-Debreu set-up is that markets are assumed to
exist for every conceivable level of investment, irrespective of whether or not trade
occurs in such a market. However, if ex-ante investments are specific to a particular
trade in most of these markets there will be no trade. It is then far-fetched to assume
that agents will believe that they can trade in inactive markets and, more importantly,

that a competitive price will be posted for such markets.

The purpose of this paper is to investigate the efficiency of investments when the
trading pattern and terms of trade are determined explicitly by the competition of
buyers and sellers. To ensure that there are no inefficiencies resulting from market
power, a model of Bertrand competition is analyzed where some agents invest prior
to trade; however, this does not rule out the dependence of the pattern of outcomes
on the initial investment of any agent and the analysis concentrates on the case
of a finite number of traders to ensure this possibility. Contracts are the result of
competition in the marketplace and we are interested in the degree to which the

hold-up problem and coordination problems are mitigated by contracts that result
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from Bertrand competition. In this regard, it should be said that we shall not permit
Bertrand competition in contingent contracts; in our analysis, contracts take the form
of an agreement between a buyer and a seller to trade at a particular price. We are
thus investigating the efficiency of contracts implied by a simple trading structure
rather than attempting explicitly to devise contracts that help address particular
problems (e.g. Aghion, Dewatripont, and Rey 1994, Maskin and Tirole 1999, Segal
and Whinston 1998).

We will also restrict attention to markets where the Bertrand competitive out-
come is robust to the way that markets are made to clear. Specifically, we assume
that buyers and sellers can be ordered by their ability to generate surplus with a
complementarity between buyers and sellers. This gives rise to assortative matching
in the quality of buyers and sellers. With investment choices, the quality of buyers
and /or sellers is assumed to depend on such investments. This set-up has the virtue
that, as we will show, the Bertrand outcome is always efficient when investment levels

are not subject to choice.

We first consider a world in which only sellers’ quality depends on their ex-ante
investments, buyers’ qualities being exogenously given. In this case we demonstrate
that sellers’ investment choices are constrained efficient. In particular, for a given
equilibrium match, a seller bids just enough to win the right to trade with a buyer
and, if he were to have previously enhanced his quality and the value of the trade
by extra investment, he would have been able to win the right with the same bid, as
viewed by the buyer, and so receive all the marginal benefits of the extra investment.
We are able to extend this result to show that, with other agents’ behaviour fixed,
sellers make efficient investment choices even when they recognise that these actions
will lead to a change in match. A consequence of this is that an outcome where all

sellers choose efficient investments is an equilibrium in the model.

When the returns of investments in terms of sellers’ quality are not too high it
is possible that a seller might undertake a high investment with the sole purpose of
changing the buyer with whom he will be matched and a byproduct of this will be

that another seller is deterred from undertaking investment appropriate to this match.
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This may lead to inefficient equilibrium matches. In such an environment, hold-up
problems are solved and the only inefficiencies left are due to sellers’ pre-emption
strategies when choosing their investments — inefficiencies are due to coordination
failures. We show that these inefficiencies will not arise if the returns from investments

differ enough across sellers.?

We then consider a world in which the buyers’ quality depends on their ex-ante
investments. In this case we indeed show that buyers’ investments are inefficient.

However, we are able to show that the extent of the inefficiency is limited.

On the one hand, when the competition among sellers for a match is most intense
the overall inefficiency in a market is less than that which could result from an under-
investment by one (the best) buyer in the market with all other buyers making efficient
investments. This result holds irrespective of the number of sellers or buyers in the
market. The feature of the Bertrand competition game that determines the intensity
of the competition among sellers is the sequential order in which buyers selects their
partner to the match. If this order is determined, at an early stage of the game, by
the competition among buyers then we demonstrate that, in equilibrium, the order
will be such that competition among sellers will be most intense — provided that
the returns from buyers’ investments differ enough across matches. In other words,
competition among buyers lead to a high intensity level of the competition among
sellers for a match that limits, in a well defined sense, the inefficiencies generated by

the buyers’ underinvestment.

On the other hand, surprisingly in this case, when competition among sellers for
a match is most intense all coordination problems are solved and the equilibrium
matches are the efficient ones: the ordering of the buyers’ qualities generated by ex-
ante investments coincides with the ordering of buyers’ innate qualities. The reason
for this is that buyers only reap those gains from an investment that would accrue
if they were to be matched with the seller who is the runner-up in the competitive

bidding process. Critically, a buyer who through investment changes his place in

2For an analysis of how market competition may fail to solve coordination problems see also Hart
(1979), Cooper and John (1988) and Makowski and Ostroy (1995).
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the quality ranking does not by that change necessarily alter the runner-up and the
buyer will ignore gains and losses that come purely from a change of match. Thus, it
is the blunted (inefficient) incentives created by a hold-up problem that remove the

inefficiencies that come from coordination failures.

The structure of the paper is as follows. After a discussion of related literature in
the next section, Section 3 lays down the basic model and the extensive form of the
Bertrand competition game between workers (sellers) and firms (buyers). It is then
shown in Section 4 that, with fixed investments, the competition game gives rise to an
efficient outcome — buyers and sellers match efficiently. Section 5 then investigates
the efficiency properties of the model where workers undertake ex-ante investments
before competition occurs. We show that workers’ investments are efficient given
equilibrium matches and that the efficient outcome is always an equilibrium. However,
depending on parameters, we show that equilibria with coordination failures may
arise that lead to inefficient matches. We then consider in Section 6 the model in
which the firms undertake ex-ante investments. We first characterize the inefficient
investment choices that will be made. We then show in Section 7 that in equilibrium
firms’ competition raises the intensity of the workers’ competition for a match to its
peak. When this is the case the inefficiencies generated by firms’ underinvestment

are limited in a well defined sense. Section 8 provides concluding remarks.

2. RELATED LITERATURE

The literature on the hold-up problem has mainly analyzed the bilateral relationship
of two parties that may undertake match specific investments in isolation (Williamson
1985, Grout 1984, Grossman and Hart 1986, Hart and Moore 1988). In other words,
these papers identify the inefficiencies that the absence of complete contingent con-

tracts may induce in the absence of any competition for the parties to the match.?

3A notable exception is Bolton and Whinston (1993). This is the first paper to analyze an
environment in which an upstream firm (a seller) trades with two downstream firms (two buyers)
that undertake ex-ante investments. One of the cases they analyze coincides with the Bertrand
competition outcome we identify in our model. However, given that this case of non-integration
when only one buyer can be served arises only with an exogenously given probability and that in
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This literature identifies the institutional (Grossman and Hart 1986, Hart and Moore
1990, Aghion and Tirole 1997, Rajan and Zingales 1998) or contractual (Aghion, De-
watripont, and Rey 1994, Maskin and Tirole 1999, Segal and Whinston 1998, Che and
Hausch 1999) devices that might reduce and possibly eliminate these inefficiencies.
We differ from this literature in that we do not alter either the institutional or con-
tractual setting in which the hold-problem arises but rather analyze how competition
among different sides of the market may eliminate the inefficiencies associated with

such a problem.*

The literature on bilateral matching, on the other hand, concentrates on the inef-
ficiencies that arise because of frictions present in the matching process. These inef-
ficiencies may lead to market power (Diamond 1971, Diamond 1982), unemployment
(Mortensen and Pissarides 1994) and a class structure (Burdett and Coles 1997, Eeck-
hout 1999). A recent development of this literature shows how efficiency can be
restored in a matching environment thanks to free entry into the market (Roberts
1996, Moen 1997) or Bertrand competition (Felli and Harris 1996). We differ from
this literature in that we abstract from any friction in the matching process and focus

on the presence of match specific investments by either side of the market.

A small recent literature considers investments in a matching environment. Some
of the papers focus on general investments that may be transferred across matches and
identify the structure of contracts (MacLeod and Malcomson 1993) or the structure of
competition (Holmstrom 1999) and the market structure (Acemoglu and Shimer 1999,
Spulber 2000) that may lead to efficiency. Other papers (Ramey and Watson 1996,
Acemoglu 1997) focus on the inefficiencies induced on parties’ investments by the
presence of an exogenous probability that the match will dissolve. These inefficiencies

arise in the presence of incomplete contracts (Ramey and Watson 1996) or even in

case both buyers can be served the gains from trade are equally shared among the seller and the
two buyers in equilibrium both buyers under-invest. In other words, the way the surplus is shared
in the absence of shortage and the focus on the competition among only two buyers greatly limits
the efficiency enhancing effect of competition that is the main focus of our analysis.

4Tt should be said that Che and Hausch (1996) suggests the possibility that competition may
enhance parties’ incentives to undertake specific investments when involved in a hold-up problem.
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the presence of complete but bilateral contracts (Acemoglu 1997).> A recent paper
by Kranton and Minehart considers, instead, the efficiency of investments in the
competitive structure itself (Kranton and Minehart 2000); specifically, markets are
limited by the networks that agents create through investment. Finally, two recent
papers (Burdett and Coles 1999, Peters and Siow 2000) focus on the efficiency of
ex-ante investments in a model in which utility is not transferable across the parties

to a match, in other words they analyze marriage problems.

The two papers closest to our analysis are Cole, Mailath, and Postlewaite (2001a)
and Cole, Mailath, and Postlewaite (2001b). These are the first papers to provide
a detailed analysis of specific investments and market competition for matches. In
particular, both papers assume that the two sides of a market first undertake match
specific investments and then compete in the market place for a match. The invest-
ment choice is modelled as a non-cooperative decision while the matching process is
modelled as a cooperative assignment game. Both papers focus on the core of this
assignment game. The two sides of the market are assumed to be heterogeneous.
In Cole, Mailath, and Postlewaite (2001b) there is a continuum of different types of
individuals on both sides of the market. As a result competition for matches occurs
among individuals that, before undertaking the investment, are almost perfect substi-
tutes. Conversely, in Cole, Mailath, and Postlewaite (2001a) there is a finite number
of different types of individuals on both sides of the market. Hence competition oc-
curs among individuals that in terms of their innate characteristics are, potentially,

imperfect substitutes.

Therefore on this dimension Cole, Mailath, and Postlewaite (2001a) is closest to
our setting. In such a framework Cole, Mailath and Postlewaite demonstrate the
existence of an equilibrium allocation that induces efficient investments as well as
allocations that yield inefficiencies. When the numbers of workers (sellers) and firms

(buyers) are discrete they are able to uniquely select an equilibrium allocation of

®Notice that Ramey and Watson (1996) also consider how matching frictions can alleviate the
inefficiencies due to the hold-up problem in the presence of incomplete contracts and match specific
investments in an ongoing repeated relationship. See also Ramey and Watson (1997) for a related
result.
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the matches’ surplus yielding efficient investments via a condition defined as ‘double-
overlapping’. This condition requires the presence of at least two workers (or two
firms) with identical innate characteristics; it implies the existence of a perfect sub-
stitute for each worker and each firm in the match. In other words competition does
not occur among individuals that are fully heterogeneous with respect to their innate
characteristics. In this case, both sides to a match obtain exactly their outside option
and, at the same time, their most favorable share of the surplus hence efficiency is
promoted. In the absence of double-overlapping — therefore when competing indi-
vidual are fully heterogeneous — equilibrium investments may not be efficient since
at least one of the parties to a match is not obtaining the most favorable share of the
match surplus. This creates room for equilibria with under-investments though Cole,
Mailath, and Postlewaite (2001a) show that, even in the latter case, there exists a

sharing rule of the surplus that leads to efficient investments.

Our analysis differs from Cole, Mailath, and Postlewaite (2001a) in that we do not
use cooperative game concepts and matching is though a non-cooperative Bertrand
competition game. We are also able to analyze the extend of inefficiency under an
‘equilibrium’ sharing rule. Each firm’s outside option is binding for any value of the
workers” and firms’ innate characteristics. However a worker’s outside option is never
binding although workers do obtain their most preferred share of the match’s surplus.
We thus choose a particular model of the competition among fully heterogeneous
individuals and thanks to this specific extensive form we are able to provide a bound

on the overall inefficiency that arises because of the firms’ underinvestments.

Finally de Meza and Lockwood (1998) and Chatterjee and Chiu (1999) also an-
alyze a matching environment with transferable utility in which both sides of the
market can undertake match specific investments but focus on a setup that delivers
inefficient investments. As a result the presence of asset ownership may enhance wel-
fare (as in Grossman and Hart 1986). In particular, de Meza and Lockwood (1998)
consider a repeated production framework and focus on whether one would observe
asset trading before or after investment and match formation. Chatterjee and Chiu

(1999), on the other hand, analyze a setup in which, as in our case, trade occurs
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only once. The inefficiency takes the form of the choice of general investments when
specific ones would be efficient and arise from the way surplus is shared by the parties
to a match when the short side of the market undertakes the investments. They focus
on the (possibly adverse) efficiency enhancing effect of ownership of assets. In our
setting, given that we obtain efficiency and near-efficiency of investments, we abstract

from any efficiency enhancing role of asset ownership.

3. THE FRAMEWORK

We consider a simple matching model: S workers match with 7" firms, we assume
that the number of workers is higher than the number of firms S > 7.5 Each firm is
assumed to match only with one worker. Workers and firms are labelled, respectively,
s=1,...,5and t = 1,...,T. Both workers and firms can make match specific
investments, denoted respectively x; and y;, incurring costs C'(z) respectively C(y;).”
The cost function C(-) is strictly convex and C'(0) = 0. The surplus of each match is
then a function of the quality of the worker ¢ and the firm 7 involved in the match:
v(o, 7). Each worker’s quality is itself a function of the worker innate ability, indexed
by the worker’s identity s, and the worker specific investment zs: o(s,2zs). In the
same way, we assume that each firm’s quality is a function of the firm’s innate ability,

indexed by the firm’s identity ¢, and the firm’s specific investment y;: 7(t, ;).

We assume complementarity of the qualities of the worker and the firm involved
in a match. In other words, the higher is the quality of the worker and the firm the
higher is the surplus generated by the match:® vi(o,7) > 0, va(o,7) > 0. Further,
the marginal surplus generated by a higher quality of the worker or of the firm in

the match increases with the quality of the partner: vis(o,7) > 0. We also assume

6We label the two sides of the market workers and firms only for expositional convenience they
could be easily re-labelled buyers and sellers without any additional change.

"For simplicity we take both cost functions to be identical, none of our results depending on this
assumption. If the cost functions were type specific we would require the marginal costs to increase
with the identity of the worker or the firm.

8For convenience we denote with v;(-,-) the partial derivative of the surplus function v(-,-) with
respect to the I-th argument and with v (-, ) the cross-partial derivative with respect to the I-th
and k-th argument or the second-partial derivatives if [ = k. We use the same notation for the
functions o(+,) and 7(-,-) defined below.
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that the quality of the worker depends negatively on the worker’s innate ability s,
o1(s,zs) < 0 (so that worker s = 1 is the highest ability worker) and positively on the
worker’s specific investment z,. Similarly, the quality of a firm depends negatively
on the firm’s innate ability ¢, 7(¢,y;) < 0, (firm ¢ = 1 is the highest ability firm)
and positively on the firm’s investment y;: 75(¢,7;) > 0. Finally we assume that the
quality of both the workers and the firms satisfy a single crossing condition requiring
that the marginal productivity of both workers and firms investments decreases in

their innate ability index: o12(s,zs) < 0 and 715(¢, ) < 0.

The combination of the assumption of complementarity and the single crossing
condition gives a particular meaning to the term specific investments we used for
xs and y;. Indeed, in our setting the investments x, and y; have a use and value
in matches other than (s,t); however, these values decrease with the identity of the
partner implying that at least one component of this value is specific to the match in

question, since we consider a discrete number of firms and workers.

We also assume that the surplus of each match is concave in the workers and firms
quality — v11 < 0, v99 < 0 — and that the quality of both firms and workers exhibit

decreasing marginal returns in their investments: o < 0 and 79 < 0.°

In Section 7 below we need stronger assumptions on the responsiveness of firms’
investments to both the workers’ and firms’ identities and on each match surplus

function.

The first assumption, labelled responsive complementarity, can be described as
follows. For a given level of worker’s investment z,, denote y(t,s) firm ¢’ efficient

investment when matched with worker s defined as:

y(t,s) :argznaxv(U(S), 7(t,y)) = Cly) (1)

9As established in Milgrom and Roberts (1990), Milgrom and Roberts (1994) and Edlin and
Shannon (1998) our results can be derived with much weaker assumptions on the smoothness and
concavity of the surplus function v(:,-) and the two quality functions o(+,-) and 7(-,-) in the two
investments x; and ;.

10
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In other words y(t, s) satisfies:

va(0(s), 7(t, y(t, ) Tt y(t, 5)) = C'y(t, 5)) (2)

where C’(+) is the first derivative of the cost function C(-). Then firm ¢’s investment

y(t, s) satisfies responsive complementarity if and only if:

% (%) > 0. (3)

In other words:

0 V12 01 T2
— | - >0 4
8t ( U22(T2)2 -+ Vg Tog — C”) ( )

where the first and second order derivatives 75 and 7o are computed at (t,y(t,s)),
the derivatives v, and vp, h,k € {1,2} are computed at (o(s), 7(t,y:(s))) and C” is

the second derivative of the cost function C(-) computed at y(t, s).

We label the second assumption marginal complementarity. This assumption re-

quires that the marginal surplus generated by a higher firm’s quality satisfies:

82'02(0-7 T)

do or 0. (5)

or v199 > 0. Notice that both responsive and marginal complementarity, and the other
conditions that we have imposed, are satisfied by a standard iso-elastic specification

of the model.
We analyze different specifications of our general framework.

We first characterize (Section 4 below) the equilibrium of the Bertrand competition

game for given vectors of firms’ and workers’ qualities.

We then move (Section 5 below) to the analysis of the workers’ investment choice
in a model in which only the workers choose ex-ante match specific investments x4
that determine the quality of each worker o (s, ) while firms are of exogenously given

qualities: 7(t).

We conclude (Section 6 and 7 below) with the analysis of the firms’ investment

11
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choice in the model in which only firms choose ex-ante match specific investments y;
that determine each firm t¢’s quality 7(¢,y;) while workers are of exogenously given
quality o(s).

The case in which both firms and workers undertake ex-ante investments is briefly

discussed in the conclusions.

We assume the following extensive forms of the Bertrand competition game in
which the T firms and the S workers engage. Workers Bertrand compete for firms.
All workers simultaneously and independently make wage offers to every one of the
T firms. Notice that we allow workers to make offers to more than one, possibly all
firms. Each firm observes the offers she receives and decides which offer to accept.
We assume that this decision is taken sequentially in the order of a given permutation
(t1,...,tr) of the vector of firms’ identities (1,...,7). In other words the firm labelled
t1 decides first which offer to accept. This commits the worker selected to work for
firm t; and automatically withdraws all offers this worker made to other firms. All
other firms and workers observe this decision and then firm ¢ decides which offer to
accept. This process is repeated until firm ¢ decides which offer to accept. Notice
that since S > T even firm t7, the last firm to decide, can potentially choose among

multiple offers.

In Sections 5 and 6 below we focus mainly on the case in which firms choose
their bids in the decreasing order of their identity (innate ability): ¢, = n, for all
n=1,...,T. We justify this choice in Section 4 below.

We look for the trembling-hand-perfect equilibria of our model. Notice that in the
extensive form we just described there exists an asymmetry between the timing of
workers’s bids (they are all simultaneously submitted at the beginning of the Bertrand
competition subgame) and the timing of each firm choice of the bid to accept (firms
choose their most preferred bid sequentially in a given order). This implies that while
in equilibrium it is possible that a firm’s choice between two identical bids is uniquely
determined this is not any more true following a deviation of a worker whose bid in
equilibrium is selected by a firm who gets to choose her most preferred bid at an

earlier stage of the subgame. To prevent firms from deviating when choosing among

12
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identical bids following a worker’s deviation that possibly does not even affect the
equilibrium bids submitted to the firm in question we modify the extensive form in
the following way. We allow workers, when submitting a bid, to state that they are
prepared to bid more if this becomes necessary. In the construction of the trembling-
hand-perfect equilibrium we then restrict the totally mixed strategy of each firm to be
such that each firm selects bids starting with a higher-order probability on the highest
bidders and allocates a lower-order probability of being selected on a bid submitted

by a worker that did not specify such a proviso.!°

4. BERTRAND COMPETITION

We now proceed to characterize the equilibria of the model described in Section 3
above solving it backwards. In particular we start from the characterization of the
equilibrium of the Bertrand competition subgame. In doing so we take the investments

and hence the qualities of both firms and workers for given.

To simplify the analysis below let 7 be the quality of firm ¢; that, as described
in Section 3 above, is the first firm to choose her most preferred bid in the Bertrand
competition subgame. In a similar way, denote 7, the quality of firm ¢,, n=1,...,T,
that is the n-th firm to choose her most preferred bid. The vector of firms’ qualities

is then (7y,...,7r).

We first identify an efficiency property of any equilibrium of the Bertrand com-
petition subgame. All the equilibria of the Bertrand competition subgame exhibit
positive assortative matching. In other words, for given investments, matches are
efficient: the worker characterized by the k-th highest quality matches with the firm
characterized by the k-th highest quality.

LEMMA 1: Every equilibrium of the Bertrand competition subgame is such that every
pair of equilibrium matches (o', 7;) and (¢”,7;), 4,5 € {1,...,T} satisfies the property:
If 7, > 1; then o' > o”.

10This modification of the extensive form is equivalent to a Bertrand competition model in which
there exists an indivisible smallest possible unit of a bid (a penny) so that each worker can break
any tie by bidding one penny more than his opponent if he wishes to do so.

13
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PROOF: Assume by way of contradiction that the equilibrium matches are not assor-
tative. In other words, there exist a pair of equilibrium matches (¢”,7;) and (o’, 75)
such that 7, > 7;, and ¢’ > ¢”. Denote B(T;), respectively B(7;), the bids that in

equilibrium the firm of quality 7;, respectively of quality 7;, accepts.

Consider first the match (¢”,7;). For this match to occur in equilibrium we need
that it is not convenient for the worker of quality ¢” to match with the firm of quality
7; rather than 7;. If worker o” deviates and does not submit a bid that will be selected
by firm 7; then two situations may occur depending on whether the firm of quality 7;
chooses her bid before, (i < j), or after (i > j), the firm of quality 7;. In particular
if 7; chooses her bid before 7; then following the deviation of the worker of quality
o” a different worker will be matched with firm 7;. Then the competition for the
firm of quality 7;.; will be won either by the same worker as in the absence of the
deviation or, if that worker has already been matched, by another worker who now
would not be bidding for subsequent firms. Repeating this argument for subsequent
firms we conclude that when following a deviation by worker ¢” it is the turn of the
firm of quality 7; to choose her most preferred bid the set of unmatched workers,
excluding worker o”; is depleted of exactly one worker, if compared with the set
of unmatched workers when in equilibrium the firm of quality 7; chooses her most
preferred bid. Hence the maximum bids of these workers B (7;) cannot be higher than

the equilibrium bid B(7;) of the worker of quality o’: B(r;) < B(r;)."!

Therefore for (0”,7;) to be an equilibrium match we need that

v(o", 1) — B(1;) > v(o”,1;) — B(Tj)

HNotice that we can conclude that following a deviation by worker o” the bid accepted by firm
7; is not higher than B(7;) since — as discussed in Section 3 above — we allow workers to specify
in their bid that they are willing to increase such a bid if necessary. Moreover we restrict the totally
mixed strategy used by each firm so as to put higher order probabilities on the bids that contain this
proviso. In the absence of these restrictions it is possible to envisage a situation in which following a
deviation by worker ¢’ the firms that select their bid after firm 7; and before firm 7; may no longer
choose among equal bids the one submitted by the worker with the highest willingness to pay. The
result is then that the bid accepted by firm 7; following a deviation might actually be higher than
B(7;). Notice that this problem disappears if we assume that there exists a smallest indivisible unit
of a bid (see also Footnote 10 above).
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or given that, as argued above, B(7;) < B(7;) we need that the following necessary

condition is satisfied:
v(o”,7i) — B(mi) > v(o”,75) — B(1;) (6)

Alternatively if 7; chooses her bid after 7; then for (¢”,7;) to be an equilibrium
match we need that worker ¢” does not find convenient to deviate and outbid the
worker of quality ¢’ by submitting bid B(7;). This equilibrium condition therefore

coincides with (6) above.

Consider now the equilibrium match (¢’,7;). For this match to occur in equilib-
rium we need that the worker of quality ¢’ does not want to deviate and be matched
with the firm of quality 7; rather than 7;. As discussed above, depending on whether
the firm of quality 7; chooses her bid before, (j < i), or after, (j > i), the firm
of quality 7;, the following is a necessary condition for (¢’,7;) to be an equilibrium
match:

o(o', 1) = B(r;) = v(o’, ) — B(r). ™)

The inequalities (6) and (7) imply:
v(o”, ) +o(o’, 1) > v(o’, 1) + vl ). (8)

Condition (8) contradicts the complementarity assumption vi3(o,7) > 0. R

Notice that, as argued in Section 5 and 6 below, Lemma 1 does not imply that the
order of firms’ qualities, which are endogenously determined by firms’ investments,

coincides with the order of firms’ identities (innate abilities).

Using Lemma 1 above we can now label workers’ qualities in a way that is con-
sistent with the way firms’ qualities are labelled. Indeed, Lemma 1 defines an equi-
librium relationship between the quality of each worker and the quality of each firm.
We can therefore denote o,, n = 1,...,T the quality of the worker that in equilib-

rium matches with firm 7,,. Furthermore, we denote o7,1,...,0s the qualities of the
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workers that in equilibrium are not matched with any firm and assume that these

qualities are ordered so that o; > 0,1 foralli=T+1,...,5 —1.

Consider now stage t of the Bertrand competition subgame characterized by
the fact that the firm of quality 7, chooses her most preferred bid. The workers
that are still unmatched at this stage of the subgame are the ones with qualities
Oty 011, ---,05. We define the runner-up worker to the firm of quality 7, to be the
worker, among the ones with qualities 0;,1,...,05, who has the highest willingness
to pay for a match with firm 7,. We denote this worker r(¢) and his quality o, ).
Clearly r(t) > t.

This definition can be used recursively so as to define the runner-up worker to the
firm that is matched in equilibrium with the runner-up worker to the firm of quality
7. We denote this worker 72(t) = r(r(t)) and his quality o,2(;: 7(t) > r(t) > t. In
an analogous way we can then denote r*(t) = r(r*=1(¢)) for every k = 1,..., p; where
() > r¥71(¢), r'(t) = r(t) and 0,0y is the quality of the last workers in the chain
of runner-ups to the firm of quality 7;.

We have now all the elements to provide a characterization of the equilibrium
of the Bertrand competition subgame. In particular we first identify the runner-up
worker to every firm and the difference equation satisfied by the equilibrium payoffs

to all firms and workers. This is done in the following lemma.

LEMMA 2: The runner-up worker to the firm of quality 7y, t = 1,...,T, is the worker
of quality o, such that:

gr(t):maX{Ui|7::t+1;-"75ando-igo-t}‘ (9)

Further the equilibrium payofts to each firm and each worker are such that for every
t=1,...,T:

Ty = [U(UtaTt)—U(Ur(t)aTt)]+7Tl—A:(t> (10)
7T7I_Z = v(ovw, ™) — 7'('}74:(” (11)
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and forevery i =T +1,...,5:
™ =0 (12)

We present the formal proof of this result in the Appendix. Notice however that
equation (9) identifies the runner-up worker of the firm of quality 7; as the worker —
other than the one that in equilibrium matches with firm 7, — which has the highest
quality among the workers with qualities lower than o; that are still unmatched at
stage t of the Bertrand competition subgame. For any firm of quality 7 it is then
possible to construct a chain of runner-up workers: each one the runner-up worker
to the firm that in equilibrium is matched with the runner-up worker that is ahead
in the chain. Equation (9) implies that for every firm the last worker in the chain of
runner-up workers is the worker of quality ory;. This is the highest quality worker
among the ones that in equilibrium do not match with any firm. In other words every

chain of runner-up workers has at least one worker in common.

Given that workers Bertrand compete for firms, each firm will not be able to
capture all the match surplus but only her outside option that is determined by the
willingness to pay of the runner-up worker to the firm. This willingness to pay is the
difference between the surplus of the match between the runner-up worker and the
firm in question and the payoff the runner-up worker obtains in equilibrium if he is
not successful in his bid to the firm: the difference equation in (11). Given that the
quality of the runner-up worker is lower than the quality of the worker the firm is
matched with in equilibrium the share of the surplus each firm is able to capture does
not coincide with the entire surplus of the match. The payoff to each worker is then
the difference between the surplus of the match and the runner-up worker’s bid: the

difference equation in (10).

The characterization of the equilibrium of the Bertrand competition subgame is

summarized in the following proposition.

PROPOSITION 1: For any given vector of firms’ qualities (7, ..., 7r) and correspond-

ing vector of workers’ qualities (o1, ...,0g), the unique equilibrium of the Bertrand
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competition subgame is such that every pair of equilibrium matches (o;,7;) and
(0,75), 1,5 € {1,...,T}, is such that:

If 7>7 then o, > 0;. (13)

Further, the equilibrium shares of the match surplus that each worker of quality

oy and each firm of quality 7y, t = 1,...,T, receive are such that:
Ty = [v(on, ) — v(oww, )] +
Pt (14>

o

+ Z [U(O'rk t))Trk(t)) — ’U(O'Tk+1(t),7',,k(t))}
1
u(

(
T = v(oww. ) — Z (

p
[ Ok t)aTrk(t)) — U(O'rk+1(t);7—rk(t))} (15)
k=1

t
Whel"e ’]”pt (t) = T + 1 and 'U(O'Tpt(t), T’r‘pt(t)) = U(Urpt+l(t)7TTpt(t)) = 0

PRroOF: Condition (13) is nothing but a restatement of Lemma 1. The proof of (14)
and (15) follows directly from Lemma 2. In particular, solving recursively (10), using
(12), we obtain (14); then substituting (14) into (11) we obtain (15). B

We now analyze the unique equilibrium of the Bertrand competition subgame
in the case in which the order in which firms select their most preferred bid is the
decreasing order of their qualities: 71 > ... > 70 and 07 > ... > 0g. From Lemma 2
— condition (9) — this also implies that the runner-up worker to the firm of quality
7; is the worker of quality ;1 for every t = 1,...,T. The following proposition

characterizes the equilibrium of the Bertrand competition subgame in this case.

PROPOSITION 2: For any given ordered vector of firms’ qualities (1y,...,7r) and
corresponding vector of workers’ qualities (01, ...,0g) the unique equilibrium of the
Bertrand competition subgame is such that the equilibrium matches are (o, Ty),

k=1,...,T and the shares of the match surplus that each worker of quality o; and
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each firm of quality 1, receive are such that:

Ty = Z[U<0-ha7_h)_v(0'h+177h)] (16)
m = vownm) = Y [0(on ) = v(oni, ™)) (17)

PROOF: This result follows directly from Lemma 1, Lemma 2 and Proposition 1
above. In particular, (9) implies that when (7y,...,7r) and (o1, ...,0g) are ordered
vectors of qualities o, = 0411 for every t = 1,...,T. Then substituting the identity

of the runner-up worker in (14) and (15) we obtain (16) and (17). ®

The main difference between Proposition 2 and of Proposition 1 can be described
as follows. Consider the subgame in which the firm of quality 7; chooses among her
bids and let (71,...,7r) be an ordered vector of qualities as in Proposition 2. This
implies that o; > 0411 > 0412. The runner-up worker to the firm with quality 7 is
then the worker of quality 0,41 and the willingness to pay of this worker (hence the

share of the surplus accruing to firm 7;) is, from (11) above:

(041, ) — WZ‘:H. (18)

Notice further that since the runner-up worker to firm 744 is 012 from (10) above

the payoff to the worker of quality ;44 is:

W?:_H = U(O’tJrl, Tt+1) — U(Ut+2, Tt+1) + WE:_’_Q. (19)

Substituting (19) into (18) we obtain that the willingness to pay of the runner-up

worker o441 is then:

W
V(0141,Tt) = V(0t11, Tegr) + 0(0t42, Te1) — 7oy, (20)
Consider now a new vector of firms qualities (71,...,7_1, 7, 7,1, ..., 7r) where the
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qualities 7; for every ¢ different from ¢t — 1 and ¢t 4+ 1 are the same as the ones in the
ordered vector (7y,...,7r). Assume that 7/, = 7,44 <7 and 7/, = 7,1 > 7. This
assumption implies that the vector of workers’ qualities (o71,. .., 0%) differs from the
ordered vector of workers qualities (oq,...,0g) only in its (¢ — 1)-th and (¢ + 1)-th
components that are such that: o;_, = 0441 < 0 and 07,; = 04—1 > 0. From
(9) above we have that the runner-up worker for firm 7; is now worker o,,5 and the
willingness to pay of this worker is:

(0440, ) — WZ‘:H. (21)

Comparing (20) with (21) we obtain, using the complementarity assumption vy > 0,

that

V(04415 71) — V(0111 Tepr) + 0(0rs2, Te1) > 0(0rg2, 71)-

In other words, the willingness to pay of the runner-up worker to firm 7; in the
case considered in Proposition 2 is strictly greater than the willingness to pay of the
runner-up worker to firm 7; in the special case of Proposition 1 we just considered.
The reason is that in the latter case there is one less worker o,,1 to actively compete
for the match with firm 7,. This comparison is generalized in the following proposition

proved in the Appendix.

PROPOSITION 3: Let (1y,...,7r) be an ordered vector of firms qualities such that
7 > ... > 7p and (71,...,75) be any permutation (other than the identity one) of
the vector (7y,...,7r) with the same t-th element: 17, = 7. Denote (01, ...,0r) and
(01,...,0%) the corresponding vectors of workers’ qualities. Then firm 7,’s payoff, as

in (17), is greater than firm 7,’s payoff, as in (15):

T
v(041, ) — Z Wwion, ) — v(onir, )] >
h=t+1
o (22)
> U(O-;“(t)77_t/) - [U(U;k(t)»ﬁ/k(t)) - U(O-qlnkal(t)?Trlk(t))]
k=1
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Proposition 3 allow us to conclude that when firms select their preferred bid in the
decreasing order of their qualities competition among workers for each match is maxi-
mized.'? This is apparent when we consider the case in which the order in which firms
select their most preferred bid in the increasing order of their qualities: 7 < ... < 7p.
In this case, according to (9) above, the runner-up worker to each firm has quality

ors1. This implies that the payoff to each firm ¢t =1,...,7T is:

7rf: =v(or41,Tt) (23)
In this case only two workers — the worker of quality o, and the worker of quality
ory1 — actively compete for the match with firm 7, and firms’ payoffs are at their

minimum.

Given that in our analysis we stress the role of competition in solving the inef-
ficiencies due to match-specific investments in what follows we mainly focus on the
case in which firms choose their most preferred bid in the decreasing order of their
innate ability. Notice that this does not necessarily mean that firms choose their
most preferred bid in the decreasing order of their qualities 7 > ... > 7 and hence
competition among workers is at its peak. Indeed, firms’ qualities are endogenously
determined in the analysis that follows. However, in Section 6 below we show that
firms will choose their investments so that the order of their innate abilities coincides

with the order of their qualities. Hence Proposition 2 applies in this case.

We conclude this section by observing that from Proposition 1 above, the worker’s
equilibrium payoff 7r}ft/ is the sum of the social surplus produced by the equilibrium
match v(oy, 7¢) and an expression W,, that does not depend on the quality o; of the
worker involved in the match. In particular this implies that W,, does not depend
on the match-specific investment of the worker of quality o;:

T v(og, ) + Wo,. (24)

ot

12Notice that trembling-hand-perfection implies that all unmatched workers with a strictly positive
willingness to pay for the match with a given firm submit their bids in equilibrium.
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Moreover, from (15), each firm’s equilibrium payoff 7T£: is also the sum of the
surplus generated by the inefficient (if it occurs) match of the firm of quality 7, with
the runner-up worker of quality o, and an expression P,, that does not depend on
the match-specific investment of the firm of quality 7;:

i ’U(Ur(t), Tt) + P, (25)

Tt

Of course when firms select their bids in the decreasing order of their qualities the
runner-up worker to firm ¢ is the worker of quality o1, as from (9) above. Therefore
equation (25) becomes:

wh = (0011, 7) + Pr. (26)

Tt

These conditions play a crucial role when we analyze the efficiency of the investment

choices of both workers and firms.

5. WORKERS’ INVESTMENTS

In this section we analyze the model under the assumption that the quality of firms
is exogenously give 7(t) while the quality of workers depends on both the workers’

identity (innate ability) and their match specific investments o (s, x;).

We consider first the case in which firms choose their preferred bids in the decreas-
ing order of their innate abilities. In this contest since firms’ qualities are exogenously
determined this assumption coincides with the assumption that firms choose their pre-
ferred bid in the decreasing order of their qualities 71 > ... > 77. Hence, Proposition
2 provides the characterization of the unique equilibrium of the Bertrand competition

subgame in this case.

We proceed to characterize the equilibrium of the workers’ investment game. We
first show that an equilibrium of this simultaneous move investment game always
exist and that this equilibrium is efficient: the order of the induced qualities o(s, ),
s=1,...,5, coincides with the order of the workers’ identities s, s = 1,...,5. We
then show that an inefficiency may arise, depending on the distribution of firms’

qualities and workers’ innate abilities. This inefficiency takes the form of additional
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inefficient equilibria, such that the order of the workers’ identities differs from the

order of their induced qualities.

Notice first that each worker’s investment choice is efficient given the equilib-
rium match the worker is involved in. Indeed, the Bertrand competition game will
make each worker residual claimant of the surplus produced in his equilibrium match.
Therefore, the worker is able to appropriate the marginal returns from his investment

and hence his investment choice is efficient given the equilibrium match.

Assume that the equilibrium match is the one between the s worker and the ¢
firm, from equation (24) worker s’s optimal investment choice x4(t) is the solution to
the following problem:

xs(t) :arginax WZ[(/W)

—C(z) =v(o(s,2), ) = Wa(se) — C(2). (27)

This investment choice is defined by the following necessary and sufficient first order

conditions of problem (27):
vi(o(s,xs(t)), 1) o2(s, 25(t)) = C'(z4(t)). (28)

Notice that (28) follows from the fact that We(s,e) does not depend on worker s’s
quality o(s, ), and hence on worker s’s match specific investment x. The following

two lemmas derive the properties of worker s’s investment choice x(t) and his quality

o(s,xs(t)).

LEMMA 3: For any given equilibrium match (o(s,zs(t)), ) worker s’s investment

choice x4(t), as defined in (28), is constrained efficient.

PROOF: Notice first that if a central planner is constrained to choose the match
between worker s and firm ¢ worker s’s constrained efficient investment is the solution
to the following problem:

z*(s,t) =argmaxv(o(s,z), ) — C(x). (29)

T
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This investment x*(s, t) is defined by the following necessary and sufficient first order

conditions of problem (29):
vi(o(s,x*(s,t)), 1) o2(s,2*(s,t)) = C'(x"(s,1)). (30)

The result then follows from the observation that the definition of the constrained
efficient investment x*(s, t), equation (30), coincides with the definition of worker s’s

optimal investment x(t), equation (28) above. B

LEMMA 4: For any given equilibrium match (o (s, z4(t)), 7:) worker s’s optimally cho-
sen quality o(s,zs(t)) decreases both in the worker’s identity s and in the firm identity

t:
do(s,zs(t))

ds

do(s,z4(t))

0.
T

<0,

PROOF: The result follows from condition (28) that implies:

d0(8,$5(t)) 01 V1 029 — 01 CW—U1 Vg 012

= <0
ds v11 (02)% 4+ vy 099 — C” ’
and )
dO’(S,ZﬂS(t» _ V12 (O'Q) < 0
dt V11 (O'Q)2 + V1 0922 — C// ’

where the functions o, and op, h, k € {1,2}, are computed at (s, x4(t)); the functions
vy, and vk, h,k € {1,2}, are computed at (o(s,zs(t)), ) and the second derivative

of the cost function C” is computed at z,(t). W

We define now an equilibrium of the workers’ investment game. Let (sq,...,Sg)
denote a permutation of the vector of workers’ identities (1,...,S). An equilibrium of
the workers’ investment game is then a vector of investment choices z, (7), as defined
in (28) above, such that the resulting workers’ qualities have the same order as the

identity of the associated firms:

0(si,05,(1) = 01 < 0(si-1,2,_, (i — 1)) = 041 Vi=2,...,5, (31)
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where o; denotes the i-th element of the equilibrium ordered vector of qualities
(017 s 7US>‘13

Notice that this equilibrium definition allows for the order of workers’ identities
to differ from the order of their qualities and therefore from the order of the identities

of the firms each worker is matched with.

We can now proceed to show the existence of the efficient equilibrium of the
worker investment game. This is the equilibrium characterized by the coincidence of
the order of workers’ identities and the order of their qualities. From Lemma 1 the

efficient equilibrium matches are (o(t,z.(t)), ), t =1,...,T.

PROPOSITION 4: The equilibrium of the workers’ investment game characterized by

s;=1,1=1,...,5 always exists and is efficient.

The formal proof of this result is presented in the Appendix. However the intuitive
argument behind this proof is simple to describe. The payoff to worker i, 7}V (o) —
C(z(i,0)), changes expression as worker ¢ increases his investment so as to improve
his quality and match with a higher quality firm.!* This payoff however is continuous
at any point, such as o;_1, in which in the continuation Bertrand game the worker

matches with a different firm, but has a kink at such points.®

However, if the equilibrium considered is the efficient one — s; = ¢ for every
1 =1,...,5 — the payoff to worker i is monotonic decreasing in any interval to the
right of the (0;41,0;_1) and increasing in any interval to the left. Therefore, this
payoff has a unique global maximum. Hence worker ¢ has no incentive to deviate and

change his investment choice.

13Recall that since 7, > ... > 77 Lemma 1 and the notation defined in Section 4 above imply that
o1 >...>0g8.
14The level of investment z(i, o) is defined, as in the Appendix: o(i,r) = 0.

V(e )—C(z(i,0;- "(x(i,04_
5Indeed, from (A.20) and (A.21) we get that ofm"( l_l)af( (o)) vy (ai_l,ﬂ)—%
o[r}Y (of_1)— iof "(w(i,04—
and o[« ‘*1)85(;8(2’ )] =v1(0i—1,Ti—1) — % Therefore, from v12 > 0, we conclude
¥ (o} z(i,0; V(o )=C(z(i,o;
thag LIt )] Ol ) -Clatii )]
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If instead we consider an inefficient equilibrium — an equilibrium where sq, ..., sg
differs from 1, ..., S — then the payoff to worker 7 is still continuous at any point, such
as o(s;, s, (7)), in which in the continuation Bertrand game the worker gets matched
with a different firm. However, this payoff is not any more monotonic decreasing in
any interval to the right of the (o(siy1, s,,, (i4+1)), 0(8i-1, 25, , (i—1))) and increasing
in any interval to the left. In particular, this payoff is increasing at least in the right
neighborhood of the switching points o(sp, x5, (h)) for h =1,...,i—1 and decreasing
in the left neighborhood of the switching points o (s, zs, (k)) for k =i+ 1,..., N.

This implies that depending on the values of parameters these inefficient equilibria
may or may not exist. We show below that for given firms’ qualities it is possible to
construct inefficient equilibria if two workers’ qualities are close enough. Alternatively,
for given workers’ qualities inefficient equilibria do not exist if the firms qualities are

close enough.

PROPOSITION 5: Given any ordered vector of firms’ qualities (71, ..., Tr), it is possi-
ble to construct an inefficient equilibrium of the workers’ investment game such that

there exists at least an 1 such that s; < s;_1.

Moreover, given any vector of workers’ quality functions (o(s1,+),...,0(ss,*)), it
is possible to construct an ordered vector of firms’ qualities (7y,...,7r) such that

there does not exist any inefficient equilibrium of the workers’ investment game.

We present the formal proof of this proposition in the Appendix. We describe here
the intuition of why such result holds. The continuity of each worker’s payoff implies
that, when two workers have similar innate abilities, exactly as it is not optimal for
each worker to deviate when he is matched efficiently it is also not optimal for him to
deviate when he is inefficiently assigned to a match. Indeed, the difference in workers’
qualities is almost entirely determined by the difference in the qualities of the firms
they are matched with rather than by the difference in workers’ innate ability. This
implies that when the worker of low ability has undertaken the high investment, at
the purpose of being matched with the better firm, it is not worth any more for the

worker of immediately higher ability to try to outbid him. The willingness to pay
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of the lower ability worker for the match with the better firm is in fact enhanced
by this higher investment. Therefore the gains from outbidding this worker are not
enough to justify the high investment of the higher ability worker. Indeed, in the
Bertrand competition game each worker is able to capture just the difference between
the match surplus and the willingness to pay for the match of the runner-up worker
that in this outbidding attempt would be the low ability worker that undertook the

high investment.

Conversely, if firms’ qualities are similar then the difference in workers qualities is
almost entirely determined by the difference in workers’ innate abilities implying that
it is not possible to construct an inefficient equilibrium of the workers’ investment
game. The reason being that the improvement in the worker’s incentives to invest
due to a match with a better firm are more than compensated by the decrease in the
worker’s incentives induced by a lower innate ability of the worker. Hence it is not
optimal for two workers of decreasing innate abilities to generate increasing qualities

so as to be matched with increasing quality firms.

We then conclude that when workers are undertaking ex-ante match specific in-
vestments and then Bertrand compete for a match with a firm investments are con-
strained efficient. If workers are similar in innate ability inefficiencies may arise that
take the form of additional equilibria characterized by inefficient matches. However,
the higher is the degree of specificity due to the workers’ characteristics with respect

to the specificity due to the firms’ characteristics the less likely is this inefficiency.

We conclude this section by discussing the general case in which firms choose their
most preferred bid in the (not necessarily decreasing) order of any vector of qualities

(71,...,77).1% In this case we can prove the following corollary.

COROLLARY 1: Propositions 4 and 5 hold in the general case in which firms choose

their most preferred bid in the order of any vector of firms qualities (71,...,7r).

16Recall that firm 7, chooses her most preferred bid first, followed by firm 7 and so on till firm
7 chooses her most preferred.
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The proof is presented in the Appendix and follows from the observation that
neither Proposition 4 nor Proposition 5 depend on how intensely workers compete for

firms.

6. FIRMS’ INVESTMENTS

We move now to the model in which the qualities of workers are exogenously given
by the following ordered vector (o), ...,0(s)), where o() = o(s), while the qualities
of firms are a function of firms’ ex-ante match specific investments y and the firm’s
identity ¢: 7(¢,y). In this model we show that firms’ investments are not constrained
efficient. Firms under-invest since their marginal incentives to undertake investments
are determined by their outside option that depends on the surplus of the match
between the firm and the immediate competitor to the worker the firm is matched
with in equilibrium (this match yields a strictly lower surplus than the equilibrium
one).!” However, a central result is that we are able to show that equilibrium matches
are always efficient: the order of firms innate abilities coincides with the order of their

derived qualities. In other words, all coordination problems are solved.

All these results crucially depend on the amount of competition in the market.
Therefore in this section we almost exclusively focus on the case in which firms select
their preferred bid in the decreasing order of their innate ability. In the next section,

a model of endogenous ordering is used to justify this assumption.

Notice that in characterizing the equilibrium of the firms’ investment game we
cannot bluntly apply Proposition 2 as the characterization of the equilibrium of the
Bertrand competition subgame. Indeed, the order in which firms choose among bids in
this subgame is determined by the firms’ innate abilities rather than by their qualities.
This implies that unless firms’ qualities (which are endogenously determined) have
the same order of firms’ innate abilities it is possible that firms do not choose among
bids in the decreasing order of their marginal contribution to a match (at least off

the equilibrium path).

1"We determine the size of this inefficiency in Section 7 below.
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PROPOSITION 6: If firms select their most preferred bid in the decreasing order of
their innate abilities the unique equilibrium of the firms’ investment game is such
that firm t chooses investment y(t,t + 1), as defined in (2).

The formal proof is presented in the Appendix. However, we discuss here the

intuition behind this result.

The nature of the Bertrand competition game is such that each firm is not able to
capture all the match surplus but only the outside option that is determined by the
willingness to pay of the runner-up worker for the match. Since the match between a
firm and her runner-up worker yields a match surplus that is strictly lower than the
equilibrium surplus produced by the same firm the share of the surplus the firm is
able to capture does not coincide with the entire surplus of the match. This implies

that firms will under-invest rendering the equilibrium investment choice inefficient.

COROLLARY 2: When firms undertake ex-ante investments and choose their most
preferred bid in the decreasing order of their innate abilities then each firm t =
1,...,T chooses an inefficient investment level y(t,t+1). Indeed, y(t,t+1) is strictly
lower than the investment y(t,t) that would be efficient for firm t to choose given the

equilibrium match of worker t with firm t.

PROOF: The result follows from Proposition 6, the definition of efficient investment
(1) when worker ¢ matches with firm ¢, and condition (A.38) in the Appendix. B

In contrast with the case in which workers undertake ex-ante investments, in this
framework the equilibrium of the Bertrand competition game is unique and charac-

terized by efficient matches.

COROLLARY 3: When firms undertake ex-ante investments the unique equilibrium of
the Bertrand competition game is characterized by efficient matches between worker
tand firmt, t=1,...,T.
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PRrROOF: The result follows immediately from Proposition 6 above. B

Two features of the model may explain why equilibria with inefficient matches do
not exist. First, as argued above, each firm’s payoff is completely determined by the
firm outside option and hence independent of the identity and quality of the worker
the firm is matched with. Second, firms choose their bid in the decreasing order of
their innate abilities hence this order is independent of firms’ investments. These two
features of the model together with positive assortative matching (Lemma 1 above)
imply that when a firm chooses an investment that yields a quality higher than the
one of the firm with a lower identity (higher innate ability) it modifies the set of
unmatched workers, and hence of bids among which the firm chooses, only of the
bid of the worker the firm will be matched with in equilibrium. Hence this change
will not affect the outside option and therefore the payoff of this firm implying that
the optimal investment cannot exceed the optimal investment of the firm with higher

innate ability. Therefore an equilibrium with inefficient investment does not exist.

An interesting issue is whether this uniqueness is preserved if we modify the ex-
tensive form of the Bertrand competition game and in particular the order in which

firms choose their most preferred bid.

Notice first that the intuition we just described does not hold if firms choose their
bid in the decreasing order of their qualities and not of their innate abilities. In
this case the order in which firms choose their most preferred bid is endogenously
determined. An argument similar to the one used in the analysis of the workers’
investment game (Proposition 4 above) will then show that equilibrium with effi-
cient matches always exist. However there may exist multiple equilibria that exhibit

inefficient matches.

Consider now the general case in which firms choose their bid in the order of the
permutation (¢1,...,tr). For simplicity we focus on the case in which firms choose
their bids in the increasing order of their innate ability: ¢, = T',...,t;7 = 1.1® Notice

first that an efficient equilibrium exists in which firms qualities have the same order

18Using Propositions 1 and 3 above this analysis can be generalized to the case in which firms
choose their most preferred bid in the order of any permutation (¢1,...,%r).
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of firms’ innate abilities. Consider such an equilibrium of the firms’ investment game.
As argued in Section 4 above, in this case the runner-up worker to every firm is the
highest quality worker that does not match with any firm in equilibrium. This implies

that each firm t’s payoft is
v(ors,7(t.9)). (32)

Therefore each firm’s net payoff function v(o(r41y, 7(¢,y)) — C(y) has a unique maxi-
mum at y(¢, 7'+ 1). This implies that firms’ equilibrium investments and hence firms’

qualities have the same order of firms’ innate abilities.

Notice however that inefficient equilibria may arise as well. The logic behind
these equilibria can be described as follows. Consider firm ¢ and assume that this
firm chooses a level of investment yielding a quality higher than the one chosen by
firm k& < t. Notice now that, from Lemma 1, in the case in question this change in
investment affects the equilibrium matches of all the workers with identities between
t and k that are un-matched when it is firm t¢’s turn to choose a bid. This implies
that the outside option of firm ¢ will also be affected by this increase in investment

creating the conditions for an equilibrium characterized by inefficient matches.

7. THE INEFFICIENCY OF FIRMS’ INVESTMENTS

7.1.  The Intensity of Competition

The analysis above shows that if, in the Bertrand competition game, firms select their
most preferred bid in the decreasing order of their innate ability, as opposed to any

other order, competition among workers for matches is at its peak.

Notice that Proposition 1 has demonstrated that, for given firms’ investments,
an individual firm’s payoff in the Bertrand competition game is highest if the order
in which firms select their bid is the decreasing order of their innate ability. Also,
Lemma 2 has shown that the quality of the runner-up worker to each firm is highest
when firms follow the decreasing order of their innate abilities in choosing their most

preferred bid. From (2) this implies that, if we restrict attention to the equilibria
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of the firms’ investment game that exhibit efficient matches,'® each firm will choose
the highest investment level when the order in which firms select their most preferred
bid is the decreasing order of their innate abilities. In other words, the intensity
of workers’ competition for matches is highest when firms select their bid in the

decreasing order of their innate abilities.

The question we ask in this section is whether we expect such a high intensity of
competition to arise when we endogenize the order in which firms select their most
preferred bid. We do this by allowing firms to compete for the order in which they
select their bid at an ex-ante stage of the game that precedes the firms’ investment
decision. We are able to show that there is an equilibrium of this ex-ante firms’
competition game in which the equilibrium order is the decreasing order of the firms’
innate abilities. Moreover, if firms innate abilities are sufficiently far apart, this is

the unique equilibrium of the ex-ante firms’ competition game.

As discussed at the end of Section 6 above, when firms select their most preferred
bid in any other order but the decreasing order of their innate abilities, multiple
equilibria may arise in the firms’ investment game. These equilibria are characterized
by inefficient matches. In our analysis below, whatever the order in which firms
select their most preferred bid, we restrict attention to the equilibrium of the firms’
investment game with efficient matches. Adapting the arguments presented in the
proof of Propositions 4 and 5 it is possible to show, as argued in Section 6 above,
that this equilibrium always exists and it is unique if the firms’ innate abilities are
sufficiently far apart. In other words, we restrict ourselves to the case in which firms’
innate abilities are sufficiently far apart so that the unique equilibrium of the firms’
investment game is the one that exhibits efficient matches whatever the order in
which firms select their most preferred bid. The equilibrium of the ex-ante firms’
competition game is then summarized by the order of the vector of firms’ qualities
(71,...,7r) where, as discussed in Section 4 above, the firm of quality 7y is the first
firm to select her most preferred bid while 7 is the last firm to select her most

preferred bid.

9These equilibria always exist as argues in Section 6 above.
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Consider now an equilibrium of this ex-ante firms’ competition game (7, ..., 7r)
that differs from the decreasing order of the firms’ innate abilities or the decreasing
order of their qualities (given the equilibrium of the firms’ investment game). Then

we can find a t* such that
Tpr < Tpry1 > Tprgn > ... > Tp (33)

where t* € {1,...,T — 1}. Now, it is clear that there exists a firm of quality 7, such
that ' € {t* +1,...,T} and

Ty > Tpx > T 41

We want to compare the equilibrium payoffs to firms ¢* and ¢’ if the equilibrium
order of the ex-ante firms’ competition game is the one described in (33) above with
the one if the two firms ¢* and ¢’ swap position in the order in which they choose
their most preferred bid. Notice that in the latter case all firms can be expected to
choose a different investment level and hence will be associated with a different quality
level. We denote the quality levels chosen when firms select their most preferred bid

according to this new order 7.

Notice first that from Lemma 1, given that we restrict attention to equilibria of
the firms’ investment game with efficient matches, if firms follow this new order in
selecting their bid each firm will be matched in equilibrium with the same worker.
Secondly, Lemma 2 and Proposition 1 (in particular the firms’s payoffs in (15) above)
imply that firms {7441, ..., 77} will have the same runner-up worker, get the same
payoff and choose the same investment as in the order described in (33) above: 7, = 7;
for every t € {t' +1,...,T}. Further, Lemma 2 implies that the firm of quality 7
has the same runner-up worker and, from (15) above, the same payoff as the firm of

quality 73+. In other words,

Tix — %t*

and
~F
Wt* = ﬂ—t*
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where we denote 7l the equilibrium payoff to the firm of quality 74+ and 7L the
equilibrium payoff of the firm of quality 7y«. Thus, firm ¢* obtains the same payoff if
the equilibrium order of the ex-ante firms’ competition game is the one described in

(33) above or the one in which firm ¢* and ¢’ swap position.

Consider now firm ¢'. The payoff function in (15) is identical in the two potential
orders with the sole exception that, from Lemma 2 above, when ¢t* and ¢’ swap posi-
tions, the runner-up worker to firm ¢’ is the worker that in equilibrium matches with
firm ¢*. Therefore from (15) above we obtain:

7l — 7l =v(op, 7o) —v(op, T ) F0(0pgr, T ) — v(0pgr, T) (34)
Notice that, as 7 > T3+ and o4+ > opy1 by the complementarity assumption, vy5 > 0,
we can conclude that if 7 = 7y then the difference in (34) is strictly positive. But
since the runner up worker of the firms of quality 7, is of higher quality o, than the
runner-up worker of quality oy of the firm of quality 7 when firms ¢* and ¢’ swap
their positions, firm ¢’ will choose a higher investment: 7 > 7. Hence, the difference
in (34) is further magnified and strictly positive. In other words, firm ¢’ strictly gains

from swapping position in the order in which firms select their most preferred bid
with firm ¢*.

In essence, firm t*’s runner-up worker has not changed as a consequence of the
swap and hence firm t* does not lose out from the change. At the same time, by
swapping position, firm ¢’ improves the quality of her runner-up worker, increasing in
this way her payoff, and further gains by being able to exploit this better potential

match at the investment stage.

We can now summarize our findings in the following proposition.

PROPOSITION 7: If firms select their most preferred bid in any order other than the
decreasing order of their innate abilities then there always exists a pair of firms who
gain, one weakly and one strictly, by swapping their position in the order in which
they select their bid.

34



DogEs COMPETITION SOLVE THE HOLD-UP PROBLEM?

Notice that Proposition 7 above implies that there cannot exist an equilibrium
order of the ex-ante firms’ competition game that differs from the decreasing order of
the firms’ innate abilities. Indeed, a minimal requirement for any model of competi-
tion for a position (a widget) is that there does not exist a pair of competitors that

strictly gains by swapping position.

Therefore, when the intensity of workers’ competition for firms is endogenized, the
unique equilibrium is such that competition will be at its peak. This result provides
us with a justification for restricting attention, in the reminder of this section, to
the properties of the equilibrium of the model in which firms select their bid in the

decreasing order of their innate abilities.

7.2.  The Size of the Inefficiency

In this section we evaluate the size of the inefficiency generated by firms’ under-
investment and characterized in Section 6 above. In particular we argue that when
competition among workers for firms is maximized this inefficiency is small in a well
defined sense. In particular, we show that when firms choose their most preferred
bid in the decreasing order of their innate abilities the overall inefficiency generated
by firms’ equilibrium under-investment is strictly lower than the inefficiency induced
by the under-investment of one firm (the best one) if it matches in isolation with the

best worker.

Denote w(s,t) the net surplus function when worker ¢ matches with firm ¢ and
the firm’s investment is the one, defined in (1) above, that maximize the surplus of

the match between worker s and firm ¢.

w(s, 1) = v(o(t), 7(t y(t, 5))) — Cly(s,1)). (35)

Clearly, in definition (35), the investment y(¢, s) maximizes the net surplus of a match
(between worker s and firm ¢) that might differ from the match with worker ¢ in which

firm ¢ is involved.

Further recall that we assume that v(-,-) and 7(-,-) satisfy both the responsive
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complementarity and the marginal complementarity assumptions as stated in (3) and
(4) above.

From Corollary 2 above we know that each firm will under-invest and choose
an investment y(¢,¢ + 1) < y(t,t). Hence the inefficiency associated with each firm
t’s investment decision is characterized by the difference between the match surplus
generated by the efficient investment y(¢,¢) and the match surplus generated by the

equilibrium investment y(¢,t + 1):
w(t,t) —w(t, t+1).

Therefore the inefficiency of the equilibrium investments by all firms is given by

T T

L=> w(t,t)= ) wtt+1). (36)

t=1 t=1

How large is this loss L? First, notice that the difference between the efficient
investment y(¢,¢) and the equilibrium investment y(¢, ¢+ 1) is approximately propor-
tional to the difference in characteristics between worker ¢ and t+ 1 (given that y(¢, s)
as defined in (1) is differentiable in s). On the other hand, as y(¢,t) solves (2), the
difference between the efficient surplus w(t,¢) and the equilibrium surplus w(¢,t + 1)
will be approximately proportional to the square of the difference between y(t,t) and
y(t,t+ 1) which will be small if worker ¢ and worker ¢+ 1 have similar characteristics.
To give an example of how this affects L, consider a situation where the character-
istics of a worker are captured by a real number ¢ with workers 1 through S having
characteristics which are evenly spaced between ¢ and c¢. How is L affected by the
size of the market 77 The difference between y(t,t) and y(t,t + 1) is approximately
proportional to [(¢ — ¢)/T] and the difference between w(t,t) and w(t,t + 1) will be
approximately proportional to [(¢ — ¢) /T]?. Summing over ¢ then gives a total loss
L that is proportional to [(¢ —¢)* /T]: in large markets the aggregate inefficiency

created by firms’ investments will be arbitrarily small.?°

20Gee Kamecke (1992).
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This is a result that changes the degree of specificity of the firms’ investment
choices. Increasing the number and hence the density of workers evenly spaced in the
interval [¢, ] is equivalent to introducing workers with closer and closer characteristics.
This is equivalent to reducing the loss in productivity generated by the match of a firm
that choose an investment so as to be matched with the worker that is immediately
below in characteristics levels. Hence, there is a sense in which this result is not
fully satisfactory since we know that if each firm’s investment is general in nature the

investment choices are efficient.

Therefore, in the rest of this section, we identify an upper-bound on the aggregate
inefficiency present in the economy that is independent of the number of firms and
does not alter the specificity of the workers investment choices. Whatever the size of
T, it is possible to get a precise upper-bound on the loss L. Indeed, the inefficiency
created by the firms’ equilibrium under-investment is less than that which could be
created by the under-investment of only one firm (the best firm 1) in a match with

only one worker (the best one labelled 1).

PROPOSITION 8: Assume that there are at least two firms (T' > 2). Let M be the
efficiency loss resulting from firm 1 choosing an investment level given by y(1,T + 1),
as defined in (1):

M=w(l1)—w(l,T+1). (37)

If both responsive complementarity, as in (3), and marginal complementarity, as in
(5), are satisfied then
L <M. (38)

The formal proof is presented in the Appendix, while the intuition of Proposition
8 can be described as follows. As a result of the Bertrand competition game firms
have incentive to invest in match specific investments with the purpose of improving
their outside option: the maximum willingness to pay of the runner-up worker to
the firm. This implies that the under-investment of each firm is relatively small.
The total inefficiency is then obtained by aggregating these relatively small under-

investments. Given the decreasing returns to investment and the assumptions on
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how optimal firms’ investments change across different matches, the sum of the loss
in surplus generated by these almost optimal investments is clearly dominated by the
loss in surplus generated by the unique under-investment of the best firm matched
with the best worker. Indeed, the firm’s investment choice in the latter case is very
far from the optimal level (returns from a marginal increase of investment are very

high).

8. CONCLUDING REMARKS

When workers and firms can undertake match specific investments, Bertrand compe-
tition for matches may help solve the hold-up and coordination problems generated
by the absence of fully contingent contracts. In this paper, we have uncovered a
number of characterization results that highlight how competition may solve, or at

least attenuate, the impact of these problems.

When workers choose investments that precede Bertrand competition then the
workers’ investment choices are constrained efficient. However, coordination failure
inefficiencies may arise that take the form of multiple equilibria and only one of these
equilibria is characterized by efficient matches: there may exist inefficient equilibria
that exhibit matches such that workers with lower innate ability invest more than

better workers at the sole purpose of being matches with a higher quality firm.

If instead firms choose investments that precede the Bertrand competition game a
different set of inefficiencies may arise. When buyers are competed for in decreasing
order of innate ability then the equilibrium of the Bertrand competition game is
unique and involves efficient matches. However, firms choose an inefficient level of
investment given the equilibrium match they are involved in. In this case, however,
we are able to show that the aggregate inefficiency due to firms’ under-investments
is low in the sense that is bounded above by the inefficiency that would be induced
by the sole under-investment of the best firm matched with the best worker. In other
words the inefficiencies due to the hold-up problem do not cumulate in the presence

of workers’ competition for matches.

Consider now what will happen in this environment if both firms and workers
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undertake ex-ante investments. Workers’ investments will still be constrained effi-
cient while firms’ investments, although inefficient, can still be near efficient (when
competition is in the decreasing order of buyers’ innate ability and the appropriate
equilibrium is selected). However, if both firms and workers undertake ex-ante invest-
ments then the inefficiency that takes the form of multiple equilibria, some of them

characterized by inefficient matches, can still arise.

We conclude with the observation that the extensive form of the Bertrand com-
petition game we use in the paper coincides with a situation in which firms are
sequentially auctioned off to workers. Our result can then be re-interpreted as apply-
ing to a model of perfect information sequential auctions in which workers’ valuations
for each firm and the value of each auctioned-off firm can be enhanced by ex-ante

investments.
APPENDIX

PRrROOF OF LEMMA 2: We concentrate on the case where all firms and all workers have different
induced quality. Bids are made as part of a trembling-hand-perfect equilibrium. We will prove the
result by induction on the number of firms still to be matched. Without any loss in generality, we
take S =T + 1. Consider the (last) stage T of the Bertrand competition game. In this stage only
two workers are unmatched and from Lemma 1 have qualities o7 and opi;. Clearly in this case
the only possible runner-up to firm 7T is the worker of quality or41, and given that by Lemma 1

or > oy the quality of this worker satisfies (9) above.

Further this stage of the Bertrand competition game is a simple decision problem for firm T
that has to choose between the bids submitted by the two workers with qualities o and opy1. Let

B(or), respectively B(or41), be their bids. Firm T clearly chooses the highest of these two bids.

Worker of quality o741 generates surplus v(or41,77) if selected by firm T while the worker of
quality or generates surplus v(or, 7r) if selected. This implies that v(or,1,7r) is the maximum
willingness to bid of the runner-up worker o1, while v(or, 77) is the maximum willingness to bid

of the worker of quality op. Notice that from o > o741 and v; > 0 we have:
v(or, 1) > v(oT41,TT).

Worker o therefore submits a bid equal to the minimum necessary to outbid worker opii. In

other words the equilibrium bid of worker op coincides with the equilibrium bid of worker opq:

39



DogEs COMPETITION SOLVE THE HOLD-UP PROBLEM?

B(or) = B(ory1). Worker o1, on his part, has an incentive to deviate and outbid worker o
for any bid B(or) < v(or41,7r). Therefore the unique equilibrium is such that both workers’

equilibrium bids are:?!

B(or) = B(or+1) = v(oT41,77)

Consider now the stage t < T of the Bertrand competition game. The induction hypothesis is
that the runner-up worker for every firm of quality 7411, ..., 7r is defined in (9) above. Further, the
shares of surplus accruing to the firms of qualities 7;, j =t+41,...,T and to the workers of qualities

oj,j=t+1,...,5 are:

ﬁ-g‘j = [v(oj, 1) —v(ory), T5)] + ﬁg‘:m (A.1)
fri = v(op;),Tj) — frg‘:m. (A.2)

From Lemma 1 the worker of quality o; will match with the firm of quality 7, which implies
that the runner-up worker for firm 7, has to be one of the workers with qualities oyy1,...,0741.
Each worker will bid an amount for every firm which gives him the same payoff as he receives in
equilibrium. To prove that the quality of the runner-up worker satisfies (9) we need to rule out that
the quality of the runner-up worker is 0,y > oy and, if o,(;) < 04, that there exist an other worker

of quality o; < oy such that i >t and o; > o,.4).

Assume first by way of contradiction that o,.;) > 0. Then the willingness to pay of the runner-
up worker for the match with firm 7; is the difference between the surplus generated by the match
of the runner-up worker of quality o,.;) and the firm of quality 74 minus the payoff that the worker

would get according to the induction hypothesis by moving to stage r(t) of the Bertrand competition

game:
V(0(t), Tt) — frﬁﬁ(m. (A.3)
From the induction hypothesis, (A.1), we get that the payoff frg‘:(m is:
7}“7/[:(&) = U(Ur(t)a Tr(t)) — U(O'TQ(t), Tr(t)) —+ 7}“;‘:2(0 (A4)

where, from the induction hypothesis, o,2(;y < 0,(;). Substituting (A.4) into (A.3) we get that the

willingness to pay of a runner-up worker of quality o, for the match with the firm of quality 7

21This is just one of a whole continuum of subgame perfect equilibria of this simple Bertrand
game but the unique trembling-hand-perfect equilibrium. Trembling-hand-perfection is here used
in a completely standard way to insure that worker op41 does not choose an equilibrium bid (not
selected by firm T') in excess of his maximum willingness to pay.
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can be written as:

V(0r4), Tt) = V(Ore)s Tr(r)) + V(Or201), Tr(r)) — ﬁg‘:z(t)- (A.5)

Consider now the willingness to pay of the worker of quality 0,2(;) for the match with the same firm
of quality 7. This is
U((Trz(t),’rt) 77%;}[:2(0. (AG)

By definition of runner-up worker the willingness to pay of the worker of quality o), as in (A.5),
must be greater or equal than the willingness to pay of the worker of quality 0,2+ as in (A.6). This

inequality is satisfied if and only if:

V(0r(), Tt) + V(0r2(0), Trt)) = V(Tr(e), Tr(r)) + 0(Tr2(1) Te)- (A7)

Since 0,4y > oy then from Lemma 1 7, > 7. The latter inequality together with .,y > o.2(y)

allow us to conclude that (A.7) is a contradiction to the complementarity assumption v1g > 0.

Assume now by way of contradiction that the o,y < o but there exists another worker of
quality o; < oy such that ¢ > t and oy > 0,(). The definition of runner-up worker implies that

his willingness to pay, as in (A.3), for the match with the firm of quality 7, is greater than the

willingness to pay v(o;, 7¢) — ﬁ'ZV of the worker of quality o;, for the same match:

U(Ur(t)v Tt) - ﬂ-W > U(Uiy Tt) - ﬁ-W (AS)

Tr(t) T4

Moreover, for (o,(),7,+)) to be an equilibrium match worker o,.(;) should have no incentive to be
matched with firm 7; instead. This implies, using an argument identical to the one presented in the

proof of Lemma 1, that the following necessary condition needs to be satisfied:

T = 0(01) Trr)) — B(Tr) = v(04), i) — B(Ti); (A.9)

Tr(t)

where B(7,;)) and B(7;) are the equilibrium bids accepted by firm 7., respectively 7;. Further,
the equilibrium payoff to worker o; is:
o =v(oi, i) — B(m). (A.10)

0

Substituting (A.9) and (A.10) into (A.8) we obtain that for (A.8) to hold the following necessary

condition needs to be satisfied:
v(0r(t), Te) + v(05, Ti) > v(0, i) +v(0p@), i) (A.11)

Since by assumption o; > o; from Lemma 1 7; > 7;. The latter inequality together with o; > o,y
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imply that (A.11) is a contradiction to the complementarity assumption v1o > 0. This concludes

the proof that the quality of the runner-up worker for firm 7 satisfies (9).

An argument similar to the one used in the analysis of stage T of the Bertrand competition
subgame concludes the proof of Lemma 2 by showing that the worker of quality ¢; submits in
equilibrium a bid equal to the willingness to pay of the runner-up worker to firm 7 as in (A.3).
This bid is the equilibrium payoff to the firm of quality 7, and coincides with (11). The equilibrium
payoff to the worker of quality oy is then the difference between the match surplus v(oy, 7¢) and the
equilibrium bid in (A.3) as in (10). H

LEMMA A.1: Given any ordered vector of firms’ qualities (71, ...,7r) and the corresponding vector
of workers’ qualities (o1, ...,0s) we have that for everyt =1,...,T—1 and everym=1,...,T —t:
m
U(Ut+17 Tt) - Z [U(Ut+h7 Tt+h) - U(Ut+h+17 Tt+h)] > U<Ut+m; Tt) (A~12)
h=1

PRrROOF: We prove this result by induction. In the case m = 1 inequality (A.12) becomes:

U(0t+1a7-t) - U(Ut+1; Tt+1) + U(Ut+2,7't+1) > U(Ut+2, Tt)
which is satisfied by the complementarity assumption vis >, given that oyy1 > opyo and 7 > 7y1.
Assume now that for every 1 < n < m the following condition holds:

n

v(or,m) = Y [0(0n, Teen) = (Ot Teen)] > v(0n, T (A.13)
h=1

We need to show that (A.12) holds for m = n + 1. Inequality (A.12) can be written as:

v(0t41,Te)  — Z [0(Ttths Tern) = V(Ttrnsrs Tern)] —
Pt (A.14)
= [o(otin+1; Tens1) = 0(0tint2; Tepng1)] > 0(0t4nt1, )
Substituting the induction hypothesis (A.13) into (A.14) we obtain:
v(ot1, ) - Z [v(ottn: Tean) = v(otpnta, Ten)] —
h=1 (A.15)

- U(Ut+7L+177-t+n+1)_U(Ut+n+277—t+n+1)] >

> V(Ot4nt15Tt) = V(Otnt1, Tetnt1) + 0(Otant2, Ternt1)

Notice now that the complementarity assumption v15 > 0 and the inequalities o¢4p11 > Ttqnt2,
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Tt > Tt+n+1 imply:
U(Gt-s-n-s-l, Tt) - U(Ut+7t+la Tt+n+1) + U(Ut+n+2y Tt+n+1) > U(Ut+n+27 Tt) (A~16)

Substituting (A.16) into (A.15) we conclude that (A.12) holds for m=n+ 1.

PROOF OF PROPOSITION 3: Consider the vectors of subsequent runner-up workers (o¢,...,074+1)
and (o}, aé(f), . ,O'/p; (t)). From Lemma 1 and the assumption 7/ = 7 we get that o, = 0. Moreover
v I
from (9) we have that or1 =o', ® and there exist an index £(r¥(t)) € {t+1,...,T+1} such that
I

Ta(r (1)) = Ty r)

for every k = 0,..., p}, where 7°(¢) = t. In other words, the characterization of the runner-up worker

(9) implies that the elements of the vector (oy,07,),... 0", (t)) are a subset of the elements of the
T

vector (0¢,0¢41,.-.,07+1). Lemma 1 then implies that

To(rk(t)) = Tre(r)

for every k = 0,...,p;. Therefore we can rewrite the payoff to firm 7/, as in (15), in the following
way:
A
V(0u(r (1)) = Y [woery Terr@y) = V(O e )] - (A.17)
k=1

Define now & be an integer number such that £(r*(t)) + 0, = £(r*+1(¢)). Then Lemma A.1 implies
that:

U(Ué(r k()41 Te( k(t)) Z Ue rE(t))+hs Te(rk ())+h) _U(Oé(rk(t))+h+17Té(rk(t))Jrh)} > (A.18)

( (FH1(8))> Te(rk (1))

for every k =0,...,p} — 1. Substituting (A.18) into (A.17) we obtain (22). B

PROOF OF PROPOSITION 4: We prove this result in three steps. We first show that the workers’
equilibrium qualities o (i, x;(7)) associated with the equilibrium s; = ¢ satisfy condition (31). We
then show that the net payoff to worker i associated with any given quality o of this worker is
continuous in . This result is not obvious since, from Lemma 1 — given the investment choices
of other workers — worker i can change his equilibrium match by changing his quality o. Finally,
we show that this net payoff has a unique global maximum and this maximum is such that the

corresponding quality o is in the interval in which worker ¢ is matched with firm ¢. These steps
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clearly imply that each worker ¢ has no incentive to deviate and choose an investment different from

the one that maximizes his net payoff and yields an equilibrium match with firm 1.

Let 7}V (c) — C(x(i, o)) be the net payoff to worker i where z(i, o) denotes worker 4’s investment
level associated with quality o:
o(i,z(i,0)) = 0. (A.19)

STEP 1: Worker i’s equilibrium quality o(4,z;(%)) is such that:

O’(Z,JZZ(Z)) =0; < O'(i — 1,$¢_1(Z. — 1)) =0;-1, Vi = 2,... ,S.
The proof follows directly from Lemma 4 above.
STEP 2: The net payoff 7}V (c) — C(z(i,0)) is continuous in o.

Let (01,...,0i-1,0i+1,--.,05) be the given ordered vector of the qualities of the workers, other
than . Notice that if o € (0;-1,0;+1) by Lemma 1 worker i is matched with the firm of quality
7;. Then by Proposition 2 and the definition of v(-,-), C(:), o(-,-) and (A.19) the payoff function

w

Tr .

7 (o) = C(x(i,0)) is continuous in o.

Consider now the limit for ¢ — o,_; from the right of the net payoff to worker ¢ when it is

matched with the firm of quality 7;, o € (0;41,0;-1). From (16) this limit is

(o) — Clz(i,0,,)) = v(0i-1,7i) —v(oip1,7) +
T
+ Z [v(oh, ) — v(ohi1, )] — Clx(i,05_1)). (A.20)
h=i+1

Conversely, if ¢ € (0,1, 0;_2) then by Lemma 1 worker i is matched with the firm of quality 7;_;and
the payoff is continuous in this interval. Then from (16) the limit for o — o |, from the left of the

net payoff to worker ¢ when matched with the firm of quality 7;,_1 is

V(o) — Clz(i,of ) = v(oic1,mi1) — (o1, Tic1) +
ovlonm) o) (A.21)
+ Z w(on, ) — v(ohtr, )] — C(z(i,05-1)).
h=i+1

In this case while the worker of quality ¢ is matched with the firm of quality 7;_; the worker of

quality o;_1 is matched with the firm of quality ;.
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Equation (A.20) coincides with equation (A.21) since the first two terms of the left-hand-side
of equation (A.21) are identical. A similar argument shows continuity of the net payoff function at
c=opmh=1,....i—2,i+1,...,N.

w

STEP 3: The net surplus function ;" (¢) — C(x(4,0)) has a unique global maximum in the interval

(0¢+17 01'71)~

Notice first that in the interval (o;41,0;_1), by Lemma 1 and Proposition 2, the net payoff 7T1VV (o)—

C(z(i,0)) takes the following expression.

V(o) = C(x(i,0)) = w(o,m)—v(oip1,m) +
+ Z [v(oh, Th) — v(oht1,Th)] — C(x(i,0)). (A.22)
h=i+1

This expression, and therefore the net payoff 7}V (o) — C(x(i,0)), is strictly concave in o (by strict
concavity of v(-,7;), o(i,-) and strict convexity of C(-)) in the interval (¢;41,0;-1) and reaches a

maximum at o; = o(i,z;(7)) as defined in (28) above.

Notice, further, that in the right adjoining interval (o;_1,0;_2), by Lemma 1 and Proposition
2, the net payoff 7}V (o) — C(z(i,0)) takes the following expression — different from (A.22).

(o) — C(x(i,0)) = v(o,7-1) —v(oi1,7i1) +
+ ’l}(0;;177'¢)—’l)(0'i+1,7'i) + (A23)
+ Z [v(oh, Th) — v(Oht1, Th)] — C(x(i,0)).
h=i+1

This new expression of the net payoff 7}V (c) — C(z(i, o)) is also strictly concave (by strict concavity
of v(+,7-1), o(i,-) and strict convexity of C(:)) and reaches a maximum at o(i,z;(i — 1)). From

Lemma 4 above we know that
O'(Z,.’EZ(Z — 1)) < 0i—1 = O(Z — 1,.’Ei,1(i — ].))

This implies that in the interval (o;_1,0;_2) the net payoff 7}V (o) — C(x(i,0)) is strictly decreasing

in o.

A symmetric argument shows that the net payoff 7}V (o) — C(z(i,0)) is strictly decreasing in o

in any interval (o, 0p_1) for every h =2,...,i — 2.

Notice, further, that in the left adjoining interval (o;12,0;41), by Lemma 1 and Proposition 2,
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the net payoff 7}V (0) —C(z(i, o)) takes the following expression — different from (A.22) and (A.23).

(o) — C(a(i,0)) = v(0,7i+1) — v(0it2, Tis1) +
T
+ Z [v(on, mh) —v(ohit, )] — C(x(i, o). (A.24)
h=i+2

This new expression of the net payoff 7}V (o) — C(x(i,0)) is also strictly concave in o (by strict
concavity of v(-, 7;41), o(i,) and strict convexity of C(-)) and reaches a maximum at o (i, z;(¢ + 1))

that from Lemma, 4 is such that
Oiv1 =0(i+ L, zipa(i+1)) <o(i,zi(i + 1))

This implies that in the interval (o;42,0;41) the net payoff 7}V (o) — C(z(i,0)) is strictly increasing
in o.
A symmetric argument shows that the net payoff 7}V (¢) — C(xz(i,0)) is strictly increasing in o

in any interval (ojy1,0%) for every k=i+2,...,7—1. 1

PROOF OF PROPOSITION 5: First, for a given ordered vector of firms’ qualities (71,...,77) we
construct an inefficient equilibrium of the workers’ investment game such that there exist one worker,
labelled s;, j € {2,...,S}, such that s; < s;_1.

To show that a vector (si1,...,s;,...,5g) is an equilibrium of the workers’ investment game we
need to verify that condition (31) holds for every i = 2,...,S and no worker s; has an incentive to

deviate and choose an investment x different from zs, (7), as defined in (27).

Notice first that for every worker, other than s; and s;_;, Proposition 4 above applies and hence
it is an equilibrium for each worker to choose investment level x,(¢), as defined in (27), such that
(31) is satisfied.

We can therefore restrict attention on worker s; and s;_;. In particular we need to consider a
worker s;_; of a quality arbitrarily close to the one of worker s;. This is achieved by considering a
sequence of quality functions 0" (s;_1,-) that converges uniformly to o(s;,).?> Then from definition
(27), the continuity and strict concavity of v(-,7) and o(s,-), the continuity and strict convexity of

C(-) and the continuity of v1(-,7), o2(s,) and C’(-) for any given £ > 0 there exists an index n.

22The sequence 0" (s;_1,-) converges uniformly to o(s;,-) if and only if

lim sup |0"(sj—1,2) — o(s;,2)] = 0.

n—oo o
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such that from every n > n:
0™ (sj—1,25,_,(j — 1)) — o(sj,35,(j — 1))| <e. (A.25)
From Lemma 4 and the assumptions s; > s;_1 we also know that for every n > n.:
o"(sj1,2s,_, (1 — 1)) < o(sj,2,(j — 1)). (A.26)
While from the assumption 7; < 7;_1 we have that:

o(sj, s; (7)) < olsj,s;(j = 1))- (A.27)

Inequalities (A.25), (A.26) and (A.27) imply that for any worker s;_; characterized by the quality

function 0™(s;_1,-) where n > n., the equilibrium condition (31) is satisfied:
o(sj,xs;(j) <o"(sj-1,2;,_,(j — 1)). (A.28)

To conclude that (s1,...,5;,...,8g) is an equilibrium of the workers’ investment game we still
need to show that neither worker s; nor worker s;_; want to deviate and choose an investment
different from x,,(j) and x,, ,(j — 1), where the quality function associated with worker s;_; is
o"™(sj_1,-) for n > n..

Consider the net payoff to worker s;: 7'&';/;/ (o) — C(z(s;,0)). An argument symmetric to the one
used in Step 2 of Proposition 4 shows that this payoff function is continuous in ¢. Moreover, from

the notation of ¢; in Section 4 above, Lemma 4, (A.26) and (A.28) we obtain that
o;<ojq <o(sjzs(j— 1)) <oja.

Then using an argument symmetric to the one used in Step 3 of the proof of Proposition 4 we
conclude that this net payoff function has two local maxima at o; and o(s;,zs,(j — 1)) and a kink
at o' ;. We then need to show that there exist at least an element of the sequence o7 ; such that
the net payoff 7'(';/‘]_/ (0) — C(x(s;j,0)) reaches a global maximum at ;. Therefore when the quality
function of worker s;_1 is 0™(s;_1,-) worker s; has no incentive to deviate and choose a different

investment.

From (16) the net payoff Wg;/(a) —C(z(sj,0)) computed at o, is greater than the same net payoff
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computed at o(s;,z,;(j — 1)) if and only if

v(oj, 1) — O (x(s5,00)) =
> w(o(s),ws,(j— 1)), 75-1) — v(of_q,7j-1) + (A.29)
+ 0(0f1,7) = C (2 (5, 0(s5,7,(5 — 1))

Inequality (A.25) above and the continuity of v(-,7j_1), o(s;,-) and C(-) imply that for any given

€ > 0 there exist a & and a ng_ such that for every n > ng_

[u(o(sj,25,(j — 1)), 75-1) —v(of 1, 75-1)| <&

and
‘C (ﬂc (sj,a(sj,st (7 — 1)))) - C (m(sj,ajril))‘ <&

These two inequalities imply that a necessary condition for (A.29) to be satisfied is
v(oj,75) = C(x(s5,05)) 2 v(oj_y, 1) = C (x(s5,07_1)) + 2. (A.30)

We can now conclude that there exist an ¢ > 0 such that for every n > n,_ condition (A.30) is
satisfied with strict inequality. This is because (by strict concavity of v(-,7;), o(s;,-) and strict
convexity of C(-)) the function v(eo,7;) — C (2(sj,0)) is strictly concave and has a unique interior

maximum at o;.

Consider now the net payoff to worker s;_;: 772’71 (0) —C(z(sj-1,0)). An argument symmetric
to the one used above allow us to prove that this payoff function is continuous in ¢. Further, from

the notation of ¢; in Section 4 above, Lemma 4, and (A.28) we have that

ojr1 <" (sj-1,25;_,(J) <05 <o0ojq.

w

Therefore we conclude that the net surplus function T

(0) = C(z(sj—1,0)) has two local maxima
at o' and 0" (sj-1,7s;_,(j)) and a kink at o;. We still need to prove that there exist at least
an element of the sequence o ; such that the net payoff 772,};’71 (o) — C(z(sj-1,0)) reaches a global
maximum at o7_; which implies that when the quality function of worker s;_; is o™(sj—1,-) this

worker has no incentive to deviate and choose a different investment.

From (16) the net payoff 71';};/71(0) — C(x(sj-1,0)) computed at o7_; is greater than the same

net payoff computed at o™ (s;_1,zs, ,(j)) if and only if

v(of g, 7m-1) — wv(oj, 1) +o(og,75) — C (x(sj_1,07 ) >

A.
> w(o™(sj-1,%s,_,(5)),75) — C(x (ijlaan(sjfbffsj_l(j)))) (A.31)
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Definition (27), the continuity and strict concavity of v(-,7;) and o(s;_1,-), the continuity and strict
convexity of C(-) and the continuity of v (-, 7;), o2(s;,-) and C’(-) imply that for given &’ > 0 there

exists a nes, a £ and a ng_, such that from every n > n.:
|Un(8j*17 Ts;_y (])) - Uj’ < 5/;

while for every n > ng_,
[0(aj,75) = v(0"™ (8j-1, %5, 4 (4)) )| < &
and

‘C (z(sj-1,05)) — C(l’ (Sj—lvU"(Sj—lafsjfl(j))))‘ <&

The last two inequalities imply that a necessary condition for (A.31) to be satisfied is
(071, mj-1) = C (2(sj-1,05_1)) > v(0j,7j-1) — C (x(sj-1,05)) + 2. (A.32)

We can now conclude that there exists a ¢’ > 0 such that for every n > n¢_, condition (A.32) is
satisfied with strict inequality. This is because (by strict concavity of v(-,7;-1), 0" (s;—1,-) and
strict convexity of C(-)) the function v(o,7j_1) — C (2(sj_1,0)) is strictly concave and has a unique
interior maximum at o7'_;.

This concludes the construction of the inefficient equilibrium of the workers’ investment game.

We need now to show that for any given vector of workers’ quality functions (o (s1,-),...,0(ss,"))
it is possible to construct an ordered vector of firms qualities (71,...,77) such that no inefficient

equilibrium exist.

Assume, by way of contradiction, that an inefficient equilibrium exists for any ordered vector of
firms’ qualities (71, ..., 7r). Consider first the case in which this inefficient equilibrium is such that
there exist only one worker s; such that s; < s;j_1. Let 7;°; be a sequence of quality levels of firm

(j — 1) such that 7' ; > 7; and 7]°; converges to 7;.

From Lemma 4 and the assumption s; > s;_; we have that

o(sj:2s;(5)) > o(sj-1,25;_, (7)) (A.33)

where z,;(j) and z; , (j) are defined in (27). Further, denote 27, (j — 1) the optimal investment

defined, as in (28), by the following set of first order conditions:

vi(o(sj-1,25,_ (G = 1), 7j) oa(sjn, 25, (= 1), 7jt) = '@, (G —1)).
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Then from Lemma 4 we have that
o(sj-1,25,_, (1 — 1)) > o(sj—1,zs;_, (4))- (A.34)

Further, continuity of the functions v(o,-), v1(o,), o(s,-), o2(s,-), C(-) and C’(-) imply that for

given € > 0 there exist an ng such that for every n > n,g
a(sj_l,x?jfl(j — 1)) —o(sj—1,2s,_,(J))| <& (A.35)

Then from (A.33), (A.34) and (A.35) there exists an € > 0 and hence an n; such that for every
n > ng
o(sj,s;(4)) > o(sj—1,25,_,(j —1)). (A.36)

Inequality (A.36) clearly contradicts the necessary condition (31) for the existence of the inefficient

equilibrium.

A similar construction leads to a contradiction in the case the inefficient equilibrium is charac-

terized by more than one worker s; such that s; < s;_;. H

PrROOF OF COROLLARY 1: Notice first that the proofs of Lemma 3 and Lemma 4 hold unchanged

in the case firms choose their bids in the order of any vector of firms’ qualities (71, ..., 77).

The proof of Proposition 4 also holds in this general case provided one substitutes the payoff in
(16) with the payoffs in (14). Moreover we need to reinterpret the workers’ qualities 0;_1, o; and
oi_1 to be the qualities of three subsequent workers in the chain of runner-up workers. In particular
o; is the quality of the runner-up worker to the firm that in equilibrium is matched with the worker
of quality o;_1, while 0,41 is the quality of the runner-up worker to the firm that in equilibrium is

matched with the worker of quality o;. We do not repeat here the details of the proof.

Finally, the proof of Proposition 5 can also be modified to apply to the general case in which
firm choose their bids in the order of the vector of firms’ qualities (71, ..., 7r). We need to substitute
the payoff in (16) with the payoff in (14). Moreover, we need to reinterpret the worker’s identity
s; as the identity of the runner-up worker to the firm that in equilibrium matches with the worker

sj—1. Once again we do not repeat here the details of the proof. Bl

PROOF OF PROPOSITION 6: We prove this result in two steps. We first show that if firms choose
investments y(t,t+1), for t = 1,...,T, (labelled simple investments, for convenience) then the order
of firms’ identities coincides with the order of firms’ qualities. Hence, Proposition 2 applies and the
shares of the surplus accruing to each worker and each firm are the ones defined in (16) and (17)
above. We then conclude the proof by showing that the unique equilibrium of the firms’ investment

subgame is for firm ¢ to choose the simple investment y(¢,t + 1), t=1,...,T.
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STEP 1: If each firm ¢ chooses the simple investment y(¢,¢+ 1), as defined in (1), then

nn=71,y(1,2)>...> 7 =7(T,y(T, T + 1)).

The proof follows from the fact that from (2) we obtain:

ot(t,y(t,s)) wva 71 T2 — 71 C" — vy 7o Ti2

— A.
8t U22(72)2 + Vg T22 — C/l < 0 ( 37)
. or(t.y(t.5) (7)?
T(t,y(t, s V12(T2
= A.
0s 1}22(7'2)2 + Vg To9 — C" <0 ( 38)

where (with an abuse of notation) we denote with 7, and 74y, h, k € {1, 2} the first and second order
derivatives of the quality functions 7(-,-) computed at (¢,y(t,s)). Moreover the first and second

order derivative (vp, and vpg, b,k € {1,2}) of the functions v(-,-) are computed at (o, 7(t, y(t, s))).

STEP 2: The unique equilibrium of the firms’ investment subgame is such that firm ¢ chooses the

simple investment y(¢,¢t + 1) for every t =1,...,T.

We prove this result starting from firm 7. In the T-th (the last) matching of the Bertrand
competition game all firms, but firm 7', have selected a worker’s bid. Denote 7 the quality of this

firm.

Assume for simplicity that S =T + 1. We use the same notation as in the proof of Proposition
2 above. In particular since we want to show that firm 7" chooses a simple investment independently
from the investment choice of the other firms we denote a7y and o741y the qualities of the two
workers that are still un-matched in the T-th subgame, such that a(r) > a(ry1). Indeed, from
Lemma 1 the identity of the two workers left will depend on the order of firms’ qualities and

therefore on the investment choices of the other (7' — 1) firms.

From Lemma 1 above we have that the worker of quality a(r) matches with firm 7". Firm T’s
payoff is v(c(ry1), 7r) while the payoff of the worker of quality o(r) is [v(oz(T), 1) — v(Q(1r41), TT)]
and the payoff of the worker of quality a(py1) is zero.

Denote now a(ry, respectively a(r.1), the identity of the workers of quality o7y, respectively

a(ry1y: ary < ar41)- Firm T’s optimal investment yr is then defined as follows

yr :argznaxv(a(T +1),7(T,y)) — C(y).

This implies that the optimal investment of firm 7" is the simple investment yr = y(T',a(r41)), as

defined in (2), whatever is the pair of workers left in the T-th subgame. If all other firms undertake
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a simple investment then from Step 1: a(¢ry = T and a(ry1) = T + 1. Hence firm T’s optimal
investment is y(7,7 + 1).

Denote now t + 1, (¢ < T), the last firm that undertakes a simple investment y(t +1,¢ + 2). We
then show that also firm ¢ will choose a simple investment y(t,t + 1). Consider the ¢-th subgame in
which firm ¢ has to choose among the potential bids of the remaining (7'—¢+-2) workers labelled a(;) <
... < a(r41), With associated qualities )y > ... > a4, respectively.?? From the assumption
that every firm j = ¢+ 1,...,7T undertakes a simple investment y(j,a(;j4+1)) and Step 1 we obtain
that 741 > ... > 7p. We first show that the quality associated with firm ¢ is such that 7 > 741.

Assume by way of contradiction that firm ¢ chooses investment y* that yields a quality 7* such
that 7,41 < 7 < 7; for some j € {t+1,...,7 — 1}. Then from Lemma 1 and (17) we have that
firm ¢ matches with worker a;) and firm t’s payoff is:

T
5 = v(agen, 7(6y) = > [v(am), ) = v, )] (A.39)

h=j+1

where 7(t,y*) = 7*. From (A.39) we obtain that y* is then the solution to the following problem:

y* =argmaxv(a(j +1),7(t,y)) — C(y). (A.40)
Yy
From the assumption that each firm j € {¢t+1,...,T} undertakes a simple investment and definition

(1) we also have that firm j’s investment choice y(j,a(j41)) is defined as follows:
y(d, agi+1)) =argmaxv(a(j +1),7(4,y)) — C(y). (A.41)
y
Notice further that the payoff to firm ¢ in (A.39) is continuous in 7*. Indeed the limit for 7* that
converges from the right to 7; is equal to
T

Hf; = v(a(j+1),7j) — Z [v(a(h),Th) — U(Oé(h+1),7h)] . (A42)
h=j+1

230nce again we want to show that firm ¢ undertakes a simple investment independently of the
investment choice of firms 1,...,¢t — 1 that, from Lemma 1, determines the exact identities of the
un-matched workers in the t-th subgame of the Bertrand competition game.
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If instead 7; < 7* < 7;_; then from (17) the payoff to the firm with quality 7* is

Hf* = 'U(Oz(j),T*) — 'U(Ck(j),Tj) +
T
+ U(a(j+1),Tj)— Z [U(a(h),Th)—v(a(h+1),T;L)}.
h=j+1

Therefore the limit for 7* that converges to 7; from the left is, from (8), equal to Hfj in (A.42).

This proves the continuity in 7% of the payoff function in (A.39).

Continuity of the payoff function in (A.39) together with definitions (A.40), (A.41) and condition
(A.37) imply that y* > y(j, a¢j+1)) or 75 > 7; a contradiction to the hypothesis 7% < 7;.

We now show that firm ¢ will choose a simple investment y(t, a(;+1y). From the result we just
obtained 7y > 7;41 > ... > 77 and the assumption that o) > ... > «(g) are the qualities of the
unmatched workers in the ¢-th subgame of the Bertrand competition game we conclude, using (17)

above, that the payoff to firm ¢ is:

T

I = v(apen, ™) — > [v(em),7h) — v(ame), )] (A.43)
h=t+1

Firm #’s investment choice is then the simple investment y(t, a(;1)) defined as follows:

y(t, ags1)) :arg?IJnaX v(a(t+1),7(t,y)) — C(y). (A.44)

To conclude that a simple investment y(t,a(;4+1)) is the unique equilibrium choice for firm ¢ in
the firms’ investment game we still need to show that firm ¢ has no incentive to deviate and choose
an investment y*, and hence a quality 7*, that exceeds the quality 74 of one of the (¢ — 1) firms
that are already matched at the ¢-th subgame of the Bertrand competition game: k < t. The reason
why this choice of investment might be optimal for firm ¢ is that it changes the pool of workers
ag, - - - a(s) unmatched in subgame ¢. Of course this choice will change the simple nature of firm
t’s investment only if 7, > 7:11. Indeed we already showed that if 7, < 741 then 7 > 7, and from
(A.44) firm #’s investment choice is y;(a(41)) a simple investment for any given set of unmatched

workers.

Consider the following deviation by firm #: firm ¢ chooses an investment y* > y(t, a(;41)) that
yields quality 7* > 7 > 7331. Recall that Lemma 1 implies that the ranking of each firm in the
ordered vector of firms’ qualities determines the worker each firm is matched with. Hence, firm t’s
deviation changes the ranking and the matches of all firms whose quality 7 is smaller than 7* and
greater than 7441. However, this deviation does not alter the ranking of the T'—¢ firms with identities

(t+1,...,T) and qualities (7441, ...,7r). Therefore, the only difference between the equilibrium set
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of un-matched workers in the ¢-th subgame and the set of un-matched workers in the same subgame
following firm ¢’s deviation is the identity and quality of the worker that matches with firm .24 The

remaining set of workers’ identities and qualities (a(¢41), .-, (s)) is unchanged.

Hence, following firm t’s deviation the un-matched workers’ qualities are o > a(41) > ... >
a(r), where a* is the quality of the worker that according to Lemma 1 is matched with firm ¢ when
the quality of this firm is 7*. Equation (17) implies that firm ¢’s payoff following this deviation is

then:
T

Hf* = U(a(t+1),T*) - Z [v(a(h), Th) - U(Oz(h+1),7h)] (A.45)
h=t+1

Continuity of the payoff function in (A.44) together with (A.45) imply that firm ¢’s net payoff is
maximized at y(t,a(;41)). Hence, firm ¢ cannot gain from choosing an investment y* > y(t, ag41))-
This proves that firm ¢ will choose a simple investment y(t,a(41)). This argument holds for every
t < T implying that all firm choose a simple investment. Therefore a(;) = ¢ and firm ¢’s equilibrium

investment choice is y; = y(¢t,t +1). B

PROOF OF PROPOSITION 8: Notice first that L and M can be written as

L= w(t,t) =Y wt,t+1) (A.46)
t=1 t=1
M=) wlt)=Y wlt+1) (A.47)

~+

=1 t=1

so that

M-L=Y% { [w(l,t) - w(t,t)} - [w(1,t+ 1) — w(t,t + 1)} } (A.48)

t=1

From (A.48), it is clear that, as T > 1, each bracketed term in the summation will be positive

with some strictly positive if

D2w(t, s)
—= > 0. A.49
95t~ (A.49)
From the definition (35) of w(t, s) we have:

Dw(t,s) 0 Ay(t, s)
— = — -0 ’ A.50
gsar ot |2y, (A.50)
24Indeed all other firms with identities (k, ..., #—1) whose match changed because of the deviation

are already matched in the ¢-th subgame of the Bertrand competition game.
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Notice that from vi2 > 0 we have (ve — ¥2) > 0 if s > ¢; while from (2) we have:

y(t, s) _ U12 01 T2

0s _522(72)24-’[72 TQQ—C”

< 0. (A.51)

In both expressions (A.50) and (A.51) the derivatives vy and vy, h,k € {1,2}, are evaluated at
(o(t), 7(t,y(t,s))), while ¥, and T, h, k € {1,2}, are evaluated at (o(s), 7(t,y(t,s))), 72 is evaluated
at (t,y(t,s)) and C” is evaluated at y(t, s).

From (A.50) the cross partial derivative of w(¢, s) then takes the following expression:

9? t, _ or(t,y(t, dy(t,
o = [t m i TR g L
o Oylt,s) OTa(ty(tss)) A52
T —%) =5 ot - o

. 0%y(t,
+ (’Ug*l)g) T2 %

To investigate the actual sign of (9%w(t, s)/dsdt), we must identify the sing of (vay — ¥22), of
the partial derivative (92 (¢, y(t,s))/0t) and of the cross derivative (9%y(t, s)/0s Ot).

Notice first that the marginal complementarity assumption v19o > 0 implies that if s > ¢
(1)22 — 1722) > 0. (A53)
Second, from the definition (2) of y(¢, s) we have that:

ora(t,y(t,s))  Tiat2a(12)? — C"'T12 — TogloeTi T2

= < 0. A.54
ot U2 (72)% + Voo — C” (A.54)
Finally the responsive complementarity assumption (3) implies that:
Py(t,s) >0 (A.55)
Os Ot ' '

Conditions (A.53), (A.54) and (A.55) imply — together with (A.51) and (ve — 02) > 0if s >t —
that all three terms in (A.52) are strictly positive. Thus (02w(t, s)/0s 0t) is positive: every term
in the summation of (A.48) is positive and M > L. The overall efficiency loss in the market is less

than that which is induced by the under-investment of the best firm. l
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